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B. A. (Part I) EXAMINATION, 2020
(Old & New Course)
POLITICAL SCIENCE

Paper First

(Basic Principles of Political Science)
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All' questions are compulsory. Each question carries % mark. This question paper consists of

100 objective type questions.
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(1)

The ideology of liberalism is a result of :
(A) Reformation

(B) Industrial revolution

(C) Renaissance

(D) All of the above

Who said, “The state is nothing but human
mind writ large. State do not come out of caks
and rocks” ?

(A) Hegel
(B) Plato
(C) Kant

(D) None of the above

Who among these is not a classical Iiberal
theorist ?

(A) John Locke

(B) 1.S.Mill

(C) T H.Green

(D) None of the above

Thomas Hobbes lived in the period of :
(A) Glorious Revolution

(B) English Civil War

(C) French Revolution

(D) None of the above
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Who said, “Will not force is the basis of.
state” ?

(A) Hobbes

(B) Green

(C) Hegel

(D) None of the above

Which among these is the most accepted theory
of the origin of state ?

(A) Social contract theory

(B) Divine origin theory

(C) Force theory

(D) Evolutionary theory

Hegel and Kant, the famous political theorists,
belonged to :
(A) England
(C) Germany

(B) France
(D) Austria
Match the following :

(a) State is a moral (1) Liberalism
institution

(b) State is a mean not (2) Anarchism

end
(c) State is an artificial (3) Idealism

institution
(d) State is an (4) Marxism

instrument for

exploitation
Code: -

a b c d

(A) 1 2 3 4
(B) 3 1 2 4
© 2 3 1 4
(D) 4 3 2 15

“He began with Rousseau and Green and ended
almost in Hegel.” He is referred to :

(A) Bradley

(B) Hobson

(C) Bosanquet

(D)  None of the above
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(3) '

Who among these was a famous English
Idealist Political Thinker ?

(A) Locke " (B) Hobbes
(C) T.H.Green (D) Laski

The elements of liberalism consisted of :
(A)
(B)
(©)
(D)

What among these is not an element of
evolutionary theory of state of origin ?

(A) Kinship

(B) Force

©)
D)

The bases of Hobbes origin of state was :
(A)
(B)
©
(D)

Which of these statements is not true ?

(A) John Locke influenced American
constitution makers.

Individualism
Liberalism
Human Rationality
All of the above

Economic activity
Kingship

Freedom
Equality
Fear
Welfare

B)
©

Rousseau’s theory gave impetus- to
democracy.

Hobbes supported separation between
legislature and executive.

None of the above

(D)

According to Locke State of nature was a :
(A) Pre-social stage

(B) Pre-political stage

(C) Social stage

(D) Political stage

Marx’s communist system speaks about
(A)
(B)
©
(D)

Classless society

Stateless society

Both classless and stateless
None of the above
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- (©)

which one of the following is an_apt -
description of Bodin’s theory of sovereignty .'?

(A) Absolute sovercignty
(B3)  Limited sovercignty
(C) Political sovereignty
(D) Popular sovereignty

Who wrote, “State is only one among the
various forms of association and as compared
with them, has no superior claims to the

individual allegiance” 7
(A) Durkheim (B) Krabbe

(C) Laski (D) Cole

Sovereignty resides in :

(A) Judiciary

(B) Executive

(C) Representative institutions
(D) All of the above

Which one of the following pair of author and
book is correctly matched ?

(A) John Locke : Leviathan

(B) J.S.Mill : Representative Government

Rousseau
Government

Thomas Hobbes : Social Contract ;

Two Treatises - on

(D)
Power is :

(A) ' Ability to influence others
(B) Dependency upon others
(C) Equal to harassment
(D) Being rewarded by others

Who ainbng these has
‘Influence process’ ?

(A)

defined power as

Lasswell

(B) Kaplan

(C) Simon

(D) Al of the above

Which among the followin

Harald Laski ? & IS not written by

(A) A Grammar of Politics

(B)  Social Contract
) Authority in the Modern State
(D)

Liberty in the Modem State
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Which among the following statements is
relevant for power ?

(A)
(B)
©
(D) _
Who defines authority as the power to
command obedience 7

(A)
(B)
©
(D)

How many types of political authority does
Max Weber describe as per their sources 7

Force is the instrument of power.
Influence is the outcome of the power.
Authority is the legitimized power.
All of the above

Maclver

Simon

Kaplan

None of the above

(A) Four

(B) Three

(C) Two

(D) None of the above

The view that ‘property is a natural right of
man’ was propounded by :

(A) Aristotle

(B) St. Augustine

(C) Locke

(D) Hegel

Who among the following thinkers held that,
“Human . consciousness postulates liberty,

liberty involves rights and rights demand the ;
state” 7

(A)
(B)
©
(D)
The safeguards of liberty reside in :
(A) Independentjudiciary

(B) Democracy

(C) Fundamental rights

(D) Alloftheabove

Barker
Green
Bosanquet
Laski
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Who among the following supported the Vie‘k
of positive liberty ?

(A) J.S. Mill

(B) Mackenzie

(C) T.H.Green

(D) None of the above

The concept of justice in the sense of
‘greatest happiness of the greatest number’

was popularized by :
(A) Laski (B) Plato
(C) Bentham (D) Marx

On what basis the citizenship of any state can
be acquired ?

(A) Marriage

(B) Residence

(C) Government Job
(D) All of the above

Who among the following is associated with
Natural Rights ?

(A) Locke (B) Bentham

(C) Marx (D) Green

What  principles  constitute liberal
democracy ?

(A) Adult Franchise

(B) Representative Government

(C) Free Press

(D) All of the above

“Every state is known by the rights, that it
maintains.” Whose statement is this ?

(A) Laski

(B) Wilde

(C) Jefferson

(D)  None of the above

Political parties are indispensable in :

(A) A parliamentary system
(B) A presidential system
() Dictatorship

(D) :

None of the above
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What is the synonym for the “Pluralist
Democracy” ?

(A) Plurality of decision centers
(B)  Polyarchy

(C) Polycracy

(D)  All of the above

Which of the following are elected indirectly
in India ?

(A) Members of Legislative Assemblies

(B) Members of Lok Sabha

(C) Members of Rajya Sabha

(D) None of the above

Who among the following not propagated the
principle of “Elite Theory” ?

(A) Mosca

(B) Bottomore

©
(D)

What constitutes the organs of civil society ?

Lasswell
Laski

(A) Market Economy

(B) Independent Media
©
D)
Who wrote, “Over himself, over his own
body, mind and soul, the individual is

Labour Union
All of the above

sovereign” ?
(A) Marx

(B) Locke -
(©) J.s.Mmill
(D) None of the above

What according to the Marxist Feminist are
the factors for women exploitation ?

(A)
(B)
(C)  Both Patriarchy and Private Property

(D)

Patriarchy
Private Property

None of the above
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The doctrine of ‘proportionate equality’” was
propounded by :

(A) Aristotle
(B) Marx

©) Rawls
(D) Rousseau

Which among these is wrongly matched ?
(A) Radical Feminism : Patriarchy

(B) Liberal Feminism : Inequality

(C) Black Feminism : Race )
(D) None of the above

What are the obstacles in the growth of civil

society ?

(A) Imperialism

(B) Regionalism

(C) Extreme pationalism

(D) All of the above

Who among the following wrote, “political
Science begins and ends with the state” ?

(A) Gettel - (B) Garner

(C) Garris (D) Leacock

The book “Modern Political Analysis” is
written by :

(A) Lasswell (B) Dahl

(C) Powell (D) Kaplan

Which among the following is not an element
of politics ?

(A) Struggle for power
(B) Human process
(C) Static process

(D) None of the above

The theory makes political science ............ :

(A)  An autonomous discipline
(B) Systematic discipline

(C) Scientific discipline

(D) All of the above

Who among these is considered as traditional
political theorist ?

(A) Aristotle

(B) Bertrand Russell
(C) Locke

(D) All of the above
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The ‘Age of Idcolopy’ started with :

(A)  American Revolution

(B)  French Revolution

(C) Tirst World War

(D) None of the above

The subject-matter of modern political theory
does not include -

(A) Power

(B) Elitism

(C) Decision-making

(D) Political institutions

Which among these is not a principle of
David Easton’s behaviourism ?

(A) Verification

(B) Quantification

(C) Disintegration

(D) Regularities

Traditional political theory depends upon :
(A) Historical approach

(B) Legal approach

(C) Philosophical approach

(D) All of the above

What is true about post-behaviourism ?

(A) A movement of protest

(B) Concerns for social well-being
(C) Emphasize social change

(D) Al of the above

Who defined state as ‘A union of families and
villages having for its end a perfect and self-
sufficing life by which we mean a happy and
honourable life” ?

(A) Cicero

(B) Boadin

(C) Aristotle

(D) None of the above
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5
plato fixed the population of an ideal stat&,‘t :
(A) 1,900 persons
(B) 5,040 persons
(C) 10,000 persons
(D) 1,00,000 persons

We cannot think of state without :

(A) Equality
(B) Permanence
(C) Sovereignty
(D) Continuity

Which among these is wrongly matched ?
(A) Aristotle : Politics

(B) Plato : Leviathan .

(C) Marx : Das Capital

(D) Laski : Grammar of Politics

Which among the following came prior to
state ?

(A) Government

(B) Society

(C)  Association

(D) ' None of the above

Whose word, “Either the state must control or
Property will control the state™ ?

(A) Laski

(B) Marx

©) Mill

(D) None of the above

Who advocated for the complete equality

between sexes including the right to vote and
1o participate in government ?

(A) Locke

(B) Bentham *
©) Min

(D) Marx

Who among these considered as the first
feminist thinker ?

(A) Mary Wollstonecraft
(B)  Caroline Norton

(C)  Matilda J, Gage

(D)  Noneof the above
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On what basis does Marx’s dialectical
materialism interpret and analyze the social
events ?

(A) Material forces

(B) Communal forces
(C) Political forces

(D) International milieu

Guild socialismbaims at:
Maximum liberty for the individual

(A)
(B) Maximum authority for the state
© Maximum democracy in industries

Maximum authority for the ruling
party

Which of the following is not a principal
postulate of the liberal movement ?

(D)

(A)  Individual freedom
(B) Powerful state

(C) Ruleoflaw

(D) Political rights

«Only the will of the sovereign can be the
source of law.” Who said it ?

(A) Thomas Hobbes
(B) John Austin

(C) Gretious

(D) None of the above

Those who are active against the very
existence of state are known as :

(A) Fascists

(B) Anarchists
(C) Socialists
(D) Noneof the above

Which one of the following is wrongly

matched ?

(A) Bentham : Legal rights
(B) J. Locke : Natural rights
(C) Kant: Moral rights

(D) Hegel : Culral rights
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ho among these viewed state as ap
Wt?odiment of the collective consciousness
em

of the people cultures ?

(A) Hegel

(B) John Loc_:kc

(C) Kant

(D) Bodin

What is the meaning of word ‘polis’ ?
(A) Nation State

(B) Feudal State

(C) City State

(D) None of the above

Select the essential element of state out of the
following :

(A) Recognition

(B) Permanence

(C) Population

(D) Continuity

David = Easton wrote the principles of
behaviourism in the book :

(A)
(B)
©
(D)

Which among these is critical point against
behaviourism ?

(A)
(B)
©
(D)

Behaviourism in Political Science is not
characterized by :

The Current Meaning of Behaviourism
Human Nature in Politics

New Aspects of Politics

None of the above

Mere Technique
Static
Value-Laden
All of the above

(A)  Movement of protest
(B)  Focus on state
© Interdisciplinary study

D) Scientific objectivity

Political Science cannot be a “trye science”.
because of :

(A)
(B)
()
(D)

No uniformity

No cause and effect
No experimentation
All of the above

set-B
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80.

81.

82.

83.
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(A) e

(©)
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i T o ? .

(&) W ® T

(C) dr® (D) diew

frefefed & ¥ W e 3 Sahy

R &1 37 T 8 ?

(A) ¥/ o i 2

(B) Nl @ Ul B i wamade) 2|

(€) ol T | FWR 2 ‘

D) T A WA N B T e
A 2

mmwmﬁ@mwmgeﬂ?

(A) Wi I A

(B) AT T W W

) fod @ i | 7@

O) @& T A

W B JEs I A A pE e ?

(A) ImHHES
®)
(©) aed TR
D) @l

mgﬁammﬁlﬁﬁiwmmﬁ?
(A) I ‘
® el vk |
©) ‘
(D) S Wl
mﬁmmﬁmvﬁwﬁm?

(A) T TR MBI
(B) et aife freiie!
(€ #a%w
(D) <M fed

77.

78.

79.

80.

81.

82.

83.

(13). .

The source for Gandhian ideology of
‘Satyagrah’ wa. :

(A) Kautilya

(B) Thoreau

(C) Aristotle

(D) None of the above

Who among these was not a supporter of
force theory of origin of state 7

(A) Jenks (B) Hume

(C) Locke (D) Voltaire

Which statement does not relate with the
Divine origin of state ?

(A) Kings derived power from God.

(B) Kings have legal obligation to people.
(C) Kings were above the law.

(D) - Subjects should obey the King.

According to Hobbes there was a contract of :
(A) All with all

(B) Eachwithall

(C) None with none

(D) One withall

In the state of nature of Rousseau the man
was : '

(A) Aggressive

(B) Nasty

(C) Nobel savage

(D) Selfish

Modern anarchists want to eliminate : .
(A) State

(B) Private Property

(C) Religion

(D) Allof the above

- Which among these is not written by Karl

Marx ?
(A) The Communist Manifesto .

(B) Poverty of Philosophy
(C) Mein Kampf
(D) Das Capital

Set-B



84.

85.

86.

87.

88.

89.
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frfafed § ¥ -9 WRER) woEfas
g @1 a@ e R ?

(A) U

(B) A

© [

(D) eefarg

T W PR A, W Qwwar <wiw €, e
g7?

(A) AR TM Wi

(B) WPa= S T

(C) TR M AIRaR

(D) A §9M AIRATE

T X e o ga € 7

(A) NS SRS

(B) wfecas wFf

(C) ra=ar

(D) ST T

fyfofea 3 ¥ D9-0 397 WoR o g A
Tord & ? i

(A) @R Y BT TE B

B) W%tzmmﬁatz’ﬁﬁél_
(C) TR P TEH FE 81

(D) e W
Feffe § ¥ o9 TG  SRTBAER]
fIurs 8 ? :

|G P S A ‘ PR 13 )]

(14) {0,

e

Which among these is not an ‘element of .
traditional political theory ?

(A) Values

(B) Empiricism
(C) Logic

(D) Idealism

Which among these presents an incorrect
contrast ?

(A) Idealism vs. Realism

(B) Democracy vs. Dictatorship

(C) Capitalism vs. Marxism

(D) Socialism vs. Marxism

Which among these constitute the source for
ideology ? =
(A) Political philosophers

(B) Literary sources

(C) Political leaders -

(D) All of the above °

Which among the following is untrue about
the Government ?

(A) Government is an agent of state
(B) Government possess sovereignty.

(C) Government has temporary

membership.
(D) All of the above

Who among these was a famous anarchist
thinker ? T

(A) Bakunin ‘
(B) Proudhon

(C) Thoreau

(D) All of the above

Marx’s historical materialism speaks about - -
how many stages of human history ?

(A) Four
(B) Five
€). six
(D) Three

Set-B'



-

91.

92.
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95,
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w
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§ TR GO W, T Ruwer R g

(D) SIRAG

78 e FUF 8, ‘Sl o R e a8l
a0t T e ?

€ W v fad

(D) SHEAE IR T

frefeRa 4 O el wwfe aReR &
Syl ¥Er TR 7

(A) NFR & AfER

(B) fafd @1 Jawr

(C) T\ T ARER

(D) wwRy @ IR

YT ) S AN B RO WA
%1 o & ek 2 7 1 9 T R § 7
(A) RS '
(C) e Yae
TR AeERE Rige § UE B WheT
HaY Ugel fhae @ 7

(A) I

(B) Rl

(C) 3T

(D) SYdad § | o1 I

R @) T af R &, “TRG T8 &
R T @ T & @B T I 8 A A
9 BRI e R T W B SN e
g ?

(A) @
(©) IRH

(B) W@
(D) W

-~ (15)

91.

92.

93.

94,

9s.

“Everything for the state, nothing against the
state, nothing outside the state”, sums up the

ideology of :

(A)
(B)
©
(D)
Whose words are these “Where there is no
law, there is no freedom” ?

Marxism
Fascism
Fabian Socialism

Liberalism

(A) Laski

(B) Locke

(C) J.S.Mill

(D) None of the above

Which one among these is regurded as a civil
right ?
(A)
(B)
©)
(D)

“The passion for equality made vain the hope
for liberty.” Whose words are these ?

Right to public tmmol e
Freedom of speech

Right to elect

Right to propert;

(B) Marx
(D) Green

(A) Laski
(C) Lord Acton

Who first laid the concept of Justice in the
Western political theory ?

(A)
(B)
©
(D)
Who defined citizen as, “One who has a share

in th(.e Government of the state and is entitled
to enjoy its honors™ ?

Aristotle

Plato

Augustine

None of the above

(A) Plato
(C) Auristotle

(B) Locke
(D) Rousseau

Set-B



06. fmfeafag & W @19 anféla afoR T8 © ? 96. Which among these is not

Right ?
(A) R B SRR (A) Rightto property
@) T P aRwR (B) Right to vote
(C) W I BT ARBR (C) Right to equal wages
() R A A P (D) None of the above
97. e W PR 97. Match th.e following: |
. (8) W (1) 7g (a) Socialism (nH h;
®) ok (2) @ (b) Realists 2)L
© Swes 3) vhe (c) Democracy 3P
O - ) TR (d) Liberalism (4) E
e Code:
; a
! a b c d ) 1 z
(A) I 2 3 4 i
B) : 3 | 2 ®) : ?
© 3 2 4 1 - = 2
o 2 I 3 4 @ 2 :

98. fy=feRed % § @M wndw WRem § 98.  Which among these ensure |
ASEIGE, Smie 9 e | @ and economic justice in
ﬁﬁfﬁaﬁ Y § 7 Constitution ?

- (A) THT 19 (A)  Article 19
(B) 3T 17 (B) Article 17
(C) 3FWT 41 (C) Atticle 41
(D) Sugaa & | (D)  All of the above

99. = Wl & @ ford 7ar Wy ? 99. Justice requires
(A) 0T U@ (A) Independent judiciary
(B) Witde =t (B) Committed judiciary
(C) Wi g . (8 (C) Fearful judges
(D) SWFE H 9 B (D) None of the above

| 100. 3@ dAwa fow M ¥ g € ? 100. The modern democracy is kn
| (A) O T (A) Direct democracy
(B) HHTATI Wi (B) ' Socialist democracy
(C) vidfenTc died (C) . ‘Representative democr
(D) ST ¥ H 7 A (D) - None of the-above

0119 . (18)
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B. A. (Part 1) EXAMINATION, 2020
(New Course)
POLITICAL SCIENCE
Paper Second
(National Movement of India and Indian Constitution)
Time : Three Hours ] * [ Maximum Marks : 50
e W wrel ¥ FETTHER wE @ SR Qg
Attempt questions from all Sections as directed.
A anoell wwl @ SR wegER o | Ol A e
D o W B O 9 SR U@ 8 araw §
N |
The candidates are required to answer only in
serial order. If there are many parts of a question,

answer them in continuation.
os—3A
(Section—A)
WY ST W
(Short Answer Type Questions)
e : wﬁmmf?farﬁmmmammgl

(A-60) P. T. O.



[2] 0120

All questions are compulsory. Each question carrie®
3 marks.

\ (A) 1858 PT TERHI [ARINGT &1 Eiyor-13

Queen Victoria’s Proclamation of 1858

(B) Teic TR
Rowlatt Act
(C) ReeTwe STarer
Khilafat movement
(D) eR-g=fT wHtn
Gandhi-Irwin Pact
(B) fiea fem
Cripps Mission
(F) dfmved ik AfaReg 7 e
Difference between Cabinet and Council of
Ministers
gue—q
(Section—B)
" W W

~(Long Answer Type Questions)

e s Rl 2 e & SR Ay | R e 8 A @ €

Attempt any nwo questions. Each question carries
8 marks, |

2. 89 T W § o oy T & 7 g e 3
T R & ?

What do you understand about Diarchy System 2 What

were the reasons for its failure ?

-f ; _\.J. i - (A‘GO)



[3] 0120

p HRAI W AR, 1935 @ qui R |

" Explain the Indian Government Act, 1935.

4. AR TN FRIGT B 9ed B [ HRON ) R
BT | ~
Explain the major reasons fpr the rise of the Indian
National Movement.

5. NG @& U &) vfeaal g st o1 auig S |
a8 AT BT T & ? '

Explain the functions and powers of the President of
India. Is he a nominal head ?

gue—y
(Section—C)
Qe I 7o
(Long Answer Type Questions)

e : S qF oA @ SR AR | TRAF T 8 IfH F

Attempt any fwo questions. Each question carries
8 marks.

6. deaW T S @ Uikl @ qadieie fadal
PIfeY |

Comparatively discuss the powers of Lok Sabha and
Rajya Sabha.

7. WY @ qegHA & el U4 widedl o1 avi B |
Describe the powers and functions of the Chief
Minister of the state.

-

(A-60) P. T. O.
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Question Booklet Number

‘12142:‘;

B.A. (SEM.-I) EXAMINATION, 2021-22
POLITCAL SCIENCE

[ Paper : First ]
( Indian National Movement &

Time : 1 : 30 Hours

Constitution of India ) Question Booklet
Paper Code Series
Alofefoftfo|1]r B

Max. Marks : 100

Instructions to the Examinee :

1.

Do not open the booklet unless you are

asked to do so.

The booklet contains 100 questions.

Examinee is required to answer any 75

" questions in the OMR Answer-Sheet

provided and notin the question booklet.
If more than 75 questions are attempted
by student, then the first attempted 75
questions will be considered for

evaluation. All questions carry equal

marks.

Examine the Booklet and the OMR

Answer-Sheet very carefully before you
proceed. Faulty question booklet due to
missing or duplicate pages/questions or
having any other discrepancy should be

got immediately replaced.

(Remaining instructions on last page)
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Whatis the total number of articles in the Indian” 1.

~ Constitution ?
(A) 395
(B) 400
(C) 390
(D) 150

Where have the Directive Principles of the State 2.

been taken from ?
(A) Britain

(B) America
(C) Japan

(D) Ireland

Through which amendment of the Constitution 3.

were the words “Socialist, Secular and Soveign”

added to .the Preamble ?
(A) 44th Amendment
(B) 42nd Amendment
(C) 61st Amendment
(D) 52nd Amendment

How many fundamental rights were to be given 4.

initially in the Constitution ?
) 6 :

(B) 7

(C) 8

(D) 10

Which of the following is not a fundamental
right 7

(A) Rightto Equality

(B) Rightto Property

(C) Right to Freedom

(D) Right against Exploitation

POL.SC./A060101T-B/6250 a3

5,

TR wiRee ¥ g e oemE § 7
(A) 395

(B) 400

(C) 390

(D) 150

forg ma 3 ?

(A Bre=

(B) oA

(C) ST

(D) AU

dRam @ gee # B Gded &
mE?

(A) 44 a1 dairas

(B) 4231 gsne

(C) 61ar dsna

" (D) 5274 wstET

ey # dfwe | feew difas siven &
a4t ?

A) 6

(B) 7

(C) 8

(D) 10

Frafala o 8 AF-ar A sfmT 98 2 ?

(A) Il & JER
(B) Wi = HfF
(C) Tl H ER

(D) v & R alRER
[PTO}

otur’ N T - (el




10.

Which of the following describes the Indian 6.
Constitution?

(A) Flexible

(B) Rigid

(C) Both Flexible and rigid

(D) None of the above

For what tenure are the members of Rajya 7.

Sabha appointed ?

(A) 2years

(B) Syears

(C) 4years

(D) 6years 7

Constitutional Head of the State Execufive is: 8
(A) Governor

(B) Chief Secretary

(C) Chief Minister

(D) Speaker of Legislative Assembly

State Council of Ministers is.collectivély 9,

" accountable to :

(A) StateAssembly
(B) Governor
(C) Parliament
(D) Prime Minister

Who appoints the Governor ? 10.

(A) Prime Minister

(B) Chief Justice of Supreme Court
(C) President

(D) Chief Justice of High Court

POL.SC./A060101T-B/6250 (4)

qrag daam P # Y 3 0

(C) T A o
(D) ST H § B &

T 99 G [ omfy & R Fraifm
g7
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(B) 599 & fog
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(C) et
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©) woe & afr
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1.

12.

13.

14,

15.

POL.SC./A060101T-B/6250

How many subjects are there in State List ?

AA) 97

(B) 66

(C) 47

(D) 37

The subject for Concurrent List is :
(A) Coin :
(B) Postal Service

(C) Jail

(D) Marriage-Divorce

Who appoints the Chief Electior; Commissioner ?
(A) President

(B) Prime Minister '

(C) Law Minister

(D) Home Minister

Which article of the Indian Constitution lists the

organ_ization 6f the Election Commission?
(A) Article-315 :
(B) Article-324

(C) Article-352

(D) Article-368 |

In which year was the Rowlatt Act passed ?

(A) 1916

~ (B) 1919

(C) 1921
(D) 1935

1.

2.

14,

15.

(3)

T g # e g B 7

(A 97

(B) 66

(C) 47

(D) 37

et g @ fama R

(A) Reerrt

(B) T/ €T

(C) S

(D) frare-fare freds

ger Prafert aga & Frgfer @ e 87
(A) Tl

(B) SR

(C) g Al

(D) e

AT F TS H MQGH & 7
(") SR - 315

(B) TT=B% - 324

(C) TR - 352

(D) STFeB% - 368

e o f5g | & g ?
(A) 1916

(B) 1919

(C) 1921

(D) 1935

[PTO)
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16.

s

18.

18.

20.

The founder of “Gadar Party” in America Was :
(A) Lala Hardayal

(B) Bhai Parmanand

(C) V.D. Savarkar

(D) Shyama Prasad Mukherjee

The founder of “Bharat Sevak Samaj" was 17.

(A) Gopal Krishna Gokhale
{B) Dadabhai Naoroji
(C) Annie Besant

(D) Surendranath Banerjee

Who was the president of the Drafting  18.

Committee of the Constituent Assembly?

(A) B.R. Ambedkar

(B) Jawaharial Nehru

(C) Dr. Rajendra Prasad

(D) Sachchidanand Sinha

When was Indian Constitution enforced? 19.
(A) 26th November, 1949

(B) 15th August, 1947

~ (C) 2nd October, 1950

(D) 26th January, 1950

Who was the temporary chairman of the
Constituent Assembly? .

(A) Dr. Rajendra Pragaq
(B) B.R. Ambedkar

(C) Sachchidanang Sinhg
(D) Pt. Jawaharial Nehry

POL.SC./A060101T-B/6250

(6)

16.

20. -

P & e el A T R Ew
& w7 i
(A) W BT

(B) W UL

(C) &8, FaER

(D) ST ST qersi

e Y TENT B TEE 9

(A) 'ﬁwwiﬂ@%

(B) rETArs IS

(C) Th F=

(D) GraAT qoH

dRUE 99 % gred (I9E) M B AR
PN Y ?

(A) FAR. FTRZH

(B) ST ew

(C) <. T = TE=

(D) HfeTRM= Rl |

ARG HiqU e R g ?

(A) 26 =R, 1949

(B) 15 oFTd, 1947

(C) 2 ot 1950

(D) 26 SFerdl, 1950

AT W9 % oTerdl oTe B A ?

(A) ., T TEE

(B) ®l.am, ardEaR
(C) e e

(D) dfEw srmevam A



24.

22,

23.

24.

25.

POL.SC./A060101T-B/6250

When was the Family Court enforced in Uttar
Pradesh ?

(A) 2nd October, 1986

(B) 4th September, 1988

(C) 11th November, 1999

(D) 5th January, 2006

When was the first meeting of the Indian
Constitution held ?

(A) 26th January, 1950

(B) 15th August, 1947

(C) 9th December, 1946

(D) 19th November, 1949

Which article of the Indian Constitution lists the
provision of District Courts ?

(A) Article 214

(B) Article 216

(C) Article 233

(D) Article 239

Residuary powers in Indian Constitution rest

with :

(A) States

(B) Centre and States

(C) Centre

(D) None of the above

The subject added to Concurrent List by the

42nd Amendment Act was

(A) Population Control and Family Planning
(B) Public Health

(C) Jail

(D) Criminal Law

21.

22.

23.

24.

25.

(7)

Sex Ry § afar ey A e A
7

(A) 2 IrEy, 1986

(B) 4 faer=rT, 1988

(C) 11 sTa=L, 1999

(D) 5 5Fardl, 2006

A @R A wae 5o A g 7
(A) 26 ST, 1950

(B) 15 3T, 1947

(C) 9 k=, 1946

(D) 19 9=, 1949

e & fra argRa 7 e =@ #
yEea 8 ?

(A) FF=T -214

(B) TT=7 -216

(C) ST=7 -233

(D) oTg=Re -239

ARG R § SR aiREn I g
(A) T & U

(B) 3= W Tl & T
(C)%a?%m

(D) S # € BE A

427 Fg T SR EEd El 3w
foar T

(A) STRiE P od qReR Fraem
(B) HESIH TareeA

(C) BRI

(D) T

[PTO)
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26. Who was the Governor-General when Cripps 26. B

(8)

Mission came to India ? g S | :
(A) Lord Wavell A Eﬁ’sf N
(B) Lord Curzon ®) St _
(C) Lord Linlithgow (€) ¥e Reterd
(D) Lord Ripon | () e R

27. Who drafted the proposal of “Quit India 27, T B3 STt 1 e P 3 e
Movement™? o
(A) Sardar Patel (A) TER e
(B) Pattabhi Sitaramayya | (B) QE\ETF?{ e
(C) Pt. Jawaharial Nehru (C) T ST e
(D) BR. Ambedkar (D) MR, T

28 Who was known as the Indian Gladstone ? 8. T @ ‘TS Y e oM § 2
(A) Gopal Krishna Gokhale ‘ (A) M HwT E
(B) Surendranath Banerjee " (B) @E"FI'RI GE
(C) Dadabhai Naoroji (C) =T R
(D) Ajit Singh (D) sFi Rjs

28, Who gave the slogan “Inquilab Zindabad"? 29, ‘e Ri=mEr” « T B Ry ?
(A) Subhash Chandra Bose () T T 3
(B) Bhagat Singh (B) T R
(C) Mahatma Gandhj (C) e ey
(D) Mohammad 1gbal 0) v Set

30.  Sardar Vallabhbhai Pate] js Compared to 0. wER gy )
(A) Napoleon TR R R T B TR E
(B) Lenin W e &
(C) Bismarck ) s &

(D) Hitler (©) et %
POL.SC./A060101T-B/6250 - O e §



31.

32.

33.

34.

39.

POL.SC./A060101T-B/6250

+ Whois the writer of the book “Discovery of India™?

(A) Sardar Patel

(B) Subhash Chandra Bose
(C) Mahatma Gandhi

(D) Pandit Jawaharlal Nehru

The Vice President is the Ex officio Chairman
of 2.

_(A) Lok Sabha

(B) Rajya Sabha
(C) Finance Commission

(D) Election Commission

Who is the supreme commander of all three

forces of India ?

(A) Army Chief -

(B) President

(C) Prime Minister

(D) Defence Minister.

Who appoints the 12 members of Rajya Sabha ?
(A) Prime Minister

(B) Chief Justice

(C) Vice President

(D) President

In which House of the Parliament is the Money

 Bill first brought up 7

(_A) Rajya Sabha

(B) Lok Sabha

(C) Any of the two Houses
(D) Both the Houses

31.

32.

33.

34,

35.

(9)

“feeall o Pea” gEF B a4 B 7
(A) FET Ted

(B) gaw TF AH -

(C) werem Tifey

(D) dfEw SR 56
Syt e 39wt 2 & 7

(A) @rpaer

(B) T
(C) forr amam
(D) g ST

| a9 &FF e %1 wares St A &

() o e
(B) gt
(C) s
(D) Vam=T
T G0 7 12 936 B B FAM BT 87
(A) T
(B) g&A =rariar
(C) ST
(D) Ty
7 fqUas TER ved fhe @ # Y Rew
T & 7
(A) =EEeT
(B) e
(C) A gt F A A A
(0) & A &
[PTO]
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36.  The total elected members of Uttar Pradesh 36, &< st forar aar 7 g |

Legislative Assembly are : LE !
() 425 | (n) 425
(B) 413 : (8) 413
(C) 403 (C) 403
(0) 398 | (D) 396

37. Who can call the joint session of both Houses ~ 37.  &®& @ HGFRT & I i (3ge) gerre & ?

of the Parliament?

(A) ThpEA F ATE
(A) Lok Sabha Speaker
(B) ARA & Uk
(B) President of India _
(C) Vice President of Lok Sabha (C) e 7 I
(D) Prime Minister of India (D) 9Rd & Fa=E
38.  Whatis the tenure of Justice of the Supreme 38,  wdfed =M & Gt @ ARy
Court of India ? G FE ?
(A) 60 years (A) 60ad
{B) 62 years o (B) 629
(C) 58 years | (C) 58 ¢
(D) 65years | (D) 65 ad
39.  The Highest Civil Court of the District is - 9. PR w g g e s
(A) District Judge's Court ) R o #W
{B) Justice Panchayat (B) =g e ‘
(C) Civil Judge's Court (©) et o7 77 .
(D) Munsif Court
(D) TR =g
40.  The Highest Criminal Coutt of District s - ' .
is : 0. B e g2 Bemd e
(A) Sessions Court
‘ (A T =g
(B) Munsif Court
(B) TRt =marera

(C) District Judge's Court
- (C) P 51 1 =

) Civil Judge's Court
(D) Civil Judge's Cou o R

POL.SC./A060101T-B/6250 (10)



42.

43.

44,

45,

| POL.SC./A060101T-B/6250

“Directive Principles are a cheque payable by
the bank concerned at its convenience” is a
quoteby: .

(A) K.T. Shah

(B) Subhash Kashyap

(C) D.D. Basu

(D) Ivor Jennings

In which year was the Nehru Report submitted?
(A) February, 1929

(B) January, 1930

(C) February, 1928

(D) December, 1929

What is the name of the building in Allahabad
built by Motilal Nehru?

(A) India House

(B) Shantiniketan

(C) Sewa Gram

(D) Anand Bhawan ,

Our Constitution provides which of the following
citizenships ?

(A} Dual Citizenship

(B) Single Citizenship

(C) State Citizenship

(D) None of the above
How many fundamental duties are listed for the

Indian citizens in Indian Constitution ?

(%) 08
(B) 09
(C) 10

(D). 07

41.

42. -

43. .

44,

45.

(1)

mwﬂﬁmaﬁwwﬁﬂ?%”-%
HIT B

A) B.8.918

(B) gAY HLIU H

(C) d.31. 5g #

(D) STEE} ST B

Jew RO Bpg af @t ™ 7

(A) wEd, 1929

(B) SFa<l, 1930

(C) wxad, 1928

(D) =R, 1929

A Ye& 2R e i AR w9 #@
TH FmE?

(A) P Te

(B) s

(C) @ar I

(D) ST W&

TR e #§ aries @ R s @
TR SeE B TR ?

(A) IBQ AR

(B) TF MR

(C) T™9 & MRS

(D) SR # ¥ HE T

A | § TR B g BRm A
e oI § 7

(A) 08
|8 09
€) 10

(D) 07

[PTO)



48.

47.

48.

49,

50.

~ pOL.SC

Through which amendment were the  46.

fundamental duties added to the Constitution ?
(A) 44th amendment
(B) 42nd amendment
(C) 24th amendment
(D) 55th amendment

Who and when can the fundamental rights be 47,

suspended ?

(A) Prime Minister on the advice of Council of
Ministers

(B) President on the situation of Emergency

(C) Imposition of Military Law

(D) Governor of States

Who elects the President of India ? 48,

(A) Parliament

(B) Lok Sabha

(C) Parliament and State Legislature
(D) State Legislature

Who can move an impeachment motion 49,

Aagainst the President ?

(A) Supreme Court

-(B) Both Houses of the Parliament
(C) Lok Sabha Speaker

(D) Prime Minister

Who appoints the Prime Minister ? 50,

(A) Governor

(B) President

(C) Chief Justice of Supreme Court
(D) Chief Justice of High Cour

/A060101T-B/6250 (12)

a3 B adew aw o s @
e ¥ afefe R ¥ 7 i
(A) 443 HMG

(B) 42 dqe

(C) 24 @ Gqire

(D) 55¢ Eshe

A ARt @ e F9 oR B A
T § 7

() TRREE B G T ST

(B) SMUEBRT WY B X Ul

(C) B g T 3 W

(D) T & T

I & T G H FH 8 7
(A) H9

(B) e

(C) TR W T ReHE

(D) 19 feereew

Uiy & Reers welREr Jaa B
T 8 ?

(A) weiea =R

(B) ¥a< & It W

(C) TepgT a7emy

(D) e

TR o g B B ® 7

® T |

(B) Wsgufey

(C) e =T 1 e~

(0) o= =mee #1 ger =



51.  The Lucknow Session of Indian National ~ 51.

Congress (1916) was presided over by :

(A) Motilal Nehru
(B) Lala Lajpat Rai
(C) A.C. Majumdar

(D) Dadabhai Naoroji

GY.S “Swaraj Party" was formed by : ) 52.

(A) B.G. Tilak
(B) Bipin Chandra Pal
(C) C.R. Das and Motilal Nehru

(D) Sardar Patel

53. The Slogan “Do or Die" was given by : 53. .

(A) B.G. Tilak

(B) B.C.Pal
(C) Mohandas Karamchand Gandhi

(D) Gopal Krishna Gokhale

54, Who formed the “FoMard Bloc"? 54,

(A) Subhash Chandra Bose
(B) Bhagat Singh
(C) B.R. Ambedkar

(D) J.B. Kripalani

55. “Cabinet Mission” visited India in the year : 86

(A) 1942AD.
(B) 1940AD.
(C) 1941AD.
(D) 1946A.D.

POL.SC./A060101T-B/6250 (13)

A TS FR 7 qES Juae (1916)
& e B Y ?

(A) AT Aew
(B) T eI T
(C) T. 4. THER
DEELERINE]
‘e Trer” g 4
(A =, foas A
(B) RRY == 1=
(©) H.am. @@ o At e A
(D) TER T A
“p T TR AR AT T
@A) .50 ke &
(B) st.¥l. U BN
(C) Aearg TR Tl &
(D) TreT FT MG &
Bran “oiaE @’ & 7
(A) gAY T T
(B) W f4e
(C) §.a. IFATH
(D) S8t I '
Pfeme fee Ra o ¢
() af 19428, ¥
(B) af 1940%. & -
(C) a¥ 1941%. #
(D) af 1946 . #
[PTO]



56.

57.

58.

59.

POL.SC./A060101T-B/6250

Who founded the Indian National Congress? -
(A) A.O.Hume

(B) Digambar Lal Kamat

(C) Tarachand

(D) Surendranath Banerjee

When was the first session of the Indian National

Congress held?

(A) 28th December, 1885

(B) 28th January, 1890

(C) 5th November, 1885

(D) 28th February, 1885

When did the “Dandi March" begin?
(A) 31st December, 1929

~ (B) 26th January, 1930

(C) 12th March, 1930
(D) 6th April, 1931

Proposal of “Puma Swaraj" was passed in which
year?

(A) 1919
(B) 1929
(C) 1942
(D) 1920

Who was the *Political Gury® of Mahatma
Gandhi?

(A) C.R.Das

(B) Gopal Krishna Gokhale
(C) B.G. Tilak

(D) Dadabhal Naoroj

58.

59.

60.

(14

g T FIE # e e B d ?

(A) ©. 3. TG ,
(B) fRa AT FHHd

(C) aTE=

(D) G el

AR ST FiE & o AfaeE #4
gam ? ,

(A) 28 fkE=, 1885

(B) 29 SEd, 1890

(C) 5 7Ta=, 1885

(D) 28 wadl, 1885

A A B T g ?

(A) 31 RE=r, 1929
(B) 26 e, 1930
(C) 12 =rE, 1930
(D) 6 3BT, 1931
‘oot TS e e ot uid gem ?
(A) 1919 €,

(B) 1929 .

(C) 1942 £,

(D) 1'920 g,

T M B T T B A 7

(A) TR, T|



62.

63.

64.

65.

POL.SC./A060101T-B/6250

The Head of the Indian Constituent Assembly
was ;

(A) Dr. Rajendra Prasad
(B) Indira Gandhi

(C) Mahatma Gandhi

(D) Dr. Bhimrao Ambedkar

Mahatma Gandhi presided over Congress

session only once. The session was :

(A) Kakinada, 1923

(B) Belgaum, 1924

{(C) Kanpur, 1925

(D) Guwahati, 1926

Who was the founder of “Abhinav Bharat” 7
(A) Khudiram Bose.

(B) V.D. Savarkar

(C) Prafulla Chaki

(D) Bhagat Singh

“Who among the following was known as

“Frontier Gandhi"?

. (A) Purushottam Das Tandon

(B) Lala Hardayal

(C) Maulana Abdul Kalam Azad

(D) Abdul Gaffar Khan

"Swaraj is my birthright and I shallhave it" is the

slogan of :

(A) Surendranath Banerjee
(B) Firozshah Mehta

(C) Bal Gangadhar Tilak
(D) Lala Lajpat Rai

61.

62.

. 63.

64.

65.

(15)

A dfjum | & oo
(A) 2R A
(8) sfawr i
(C) T Y
(D) 2. AT =R
TErAl M ¥ Baw T AR HAE H TR
iRy fFm a8 afedes or ¢
(A) ST, 1923
(B) T, 1924
(C) PMgR, 1925
(D) Tarerd!, 1926
‘e ARa” & e B 8 7
(A) GERM T
(B) &8, AEER
(C) T =
(D)maﬁiz
Pyt & 4 B “dmr T S w0
o © 7
(A) gEaeE & <
(B) T EXEA
(C) AT HGH HeTH AR
(D) FGW THER Tl
e A S R ofeR ® R § )
TE W I8 Fu R R ?
(A) G SR
(B) sl Hean
(C) T TR R
(D) TR WG T
P10]



66.

67.

68.

69.

70.

pOL.SC./A06

In which year did the Khilafat Movement begin ?
(A) 1920

(B) 1923

(C) 1919

(D) 1921

When was the Gandhi-Irwin Pact signed ?
(A) 1st March, 1931

(B) 3rd March, 1931

(C) 5th March, 1931

(D) 9th March, 1931

When was the Swaraj Party formed ?

(A) 1923

(B) 1924

(C) 1922

(D) 1925

When was the Second Round Table
Conference held ?

(A) T7th September, 1931
(B) 8th December, 1933
(C) 4th May, 1934

(D) 7th September, 1930

Who was the writer of the book named ‘Hind
Swaraj"?

(A) Madan Mohan Malaviya
(B) Pt. Jawaharlal Nehry
(C) Mahatma Gandhi

(D) Subhash Chandra Bose

0101T-B/6250

’

66.

67.

68.

70,

(16)

Faema ST @ wrew R ad gam ?
(A) 1920 &. \
(sj 1923 &.

(C) 1919 £.

(D) 1921 £.

-z geEe I B &9 52 4 7
(A) 17, 1931 2.

(B) 37rd, 1931 §.

(C) 57rd, 1931 §.

(D) 99, 1931 &.

T T B T B & ?

(A) 1923 €.

(B) 1924 €.

(C) 1922 3.

(D) 1925 £.

“fecia ot qe’ HE g °r 7

(A) 7 faav, 1931
(B) 8 M, 1933
(C) 492, 1934

(D) 7 Ry, 1930
"o T e TR B AEh B & ?

(A) 7&T FreT AR
(B) Wieq STt Tew
(C) werm widy

(D) g9 = g



-

71

72

73.

74.

75.

POL.SC./A060101T-B/6250

In which year did Gandhiji return from South
Africa ?

A 1915
(B) 1916
(C) 1917
(D) 1918

Who was the viceroy at the time of Jallianwala

Bagh massacre in 1919 ?

" (A) “Lord Chelmsford

(B) Lord Minto
(C) Lord Dalhousie
(D) Lord Canning

Who among the following called Mahatma

- Gandhiji Mahatma for the first time?

(A) Motilal Nehru '

(B) Madan Mohan Malaviya

(C) Rabindranath Tagore

(D) SB.Bose

“Quit India Movement_" began on :
(A) 9th August, 1942

(Bj 15th August, 1942

~ (C) 5thAugust, 1942

(D) 20th August, 1942

" Who was elected the President of Indian

National Congress in 1938 ?
(A) Subhash Chandra Bose
(B) J.B. Kripalani

(C) Pattabhi Sitaramayya
(D) Dr. Rajendra Prasad

71.

{2

73.

74.

75.

(17)

o af werem e aRr onhiw § A0H
am ?

(A) 1915 %.

(B) 1916 §.

(C) 1917 §.

(D) 1918 £.

SiRmrETern AT AXEeR (1919) % 9 aFETd
f o ? ;

(A) A TEHS

(B) @ frar

(C)Va*rs‘gaa-wﬁ

(D) A HFT -

e § & R T A e

qX “AET” el ?
(A) A ABE

~ (B) HEH Wew A@Ad

(C) WEr=arg IR

(D) Ta. /. 94

o O R 9 W ¢

(A) 9 OTR, 1942

(B) 15 ST, 1942 &

(C) 5 v, 1942 &

(D) 20 3T, 1942 &

R5Y 19382. ¥ Wl TS S0 W e
T T ?

(A) g == g

(B) .. HuwE
(C) weer Mardar

(0) 303 e x
[PTO]



76.

1.

78.

79.

80.

POL.SC./AOéO]O]T-B/éZSO »

Who was the first President of the Indian National  76.

Congress ?

(A) W.C. Banerjee
(B) Dadabhai Naoroji
(C) AO. Hume

(D) S.N. Banerjee

When did Kakori conspiracy happen ? 1.

(A) 10th August, 1925
(B) 9th August, 1925
(C) 9th August, 1926
(D) 11th August, 1925

Who had ordered the firing at the Jallianwala  78.

Bagh massacre ?

(A) Lord Dalhousie
(B) General Dyer
(C) 'Lord Mountbatten

(D) General Hugh Rose

When was the Muslim League founded? 79.

(A) 1905
(B) 1906
(C) 1907
(D) 1908

Who was the founding President of the “Harijan
Sevak Sangh™?

80.

(A) Ghanshyam Das Birla
() BR. Ambediar

(C) Mahatma Gandhi
(D) Vinoba Bhave

(18)

el TS FG B I e i & 7 \
@) @t 7= T
(B) aTarTS el

() T3 T
(D) TE.G. Tl

R ggal” F B ?
() 10 e, 1925

(B) 9 &, 1925

(C) 9 ST, 1926

(D) 11 3T, 1925

SRt 8 F@e § A T @
s P R 7

(A) W SRl

~(B) 5@ EX

(C) ¥ AevedeH

(D) IRt & e

TiRe ST St T e A ¥ g ?

® 1905

(8) 1906

(C) 1907

(D) 1908

"R T WO S TS ey B 4 7
(A) 19Em T faean

(B) <R, =

(C) wer ey

(O) Rerfrar



81.

82.

83.

85.

POL.SC./A060101T-B/6250

VWhen did India get its independence ?°
{A) 15th August, 1947

(B) 26th January, 1830

(C) 26th November, 1949

(D) 26th January, 1950

The first session of the Constituent Assembly
was held on :

(A) 16th August, 1945
(B) 26th January, 1850

(C) 9th December, 1946 '

(D) 26th November, 1949

The Cabinet Mission was headed by :

(A) Sir Pethick Lawrence

(B) Lord Emery

(C) Lord Wavell

(D) Sir John Simon |
The first Indian woman lo be elected as
President of Indian Nationa! Congress was !
(A) Sucheta Kripalani

(B) Annie Besant

(C) Vijay Lakshmi Pandit

(D) Sarojini Naidu

Who was known as “Sher-e-Punjab™?

(A) Rajguru

{B) Udham Singh

(C) Bhagat Singh

(D) Lala fajpat Rai

81.

82.

85.

(19)

9 3 WO B o @ ?

(&) 15 97T, 1947

(B) 26 S=ad, 1930

(C) 26 =R, 1948

(D) 26 SFad, 1950

FRUE B W TEe SN F g 7

(A) 16 37T, 1946
(8) 26 S, 1950
(C) 9 R, 1946

(D) 26 =R, 1949
e fem @ Agw R R ?

(A) WX AWRF

(B) ¢ Tl

(C) g NAw

(D) & S WrEA

el AR A S AR i FwiE
Jaw g o, 4 :

(A) Ferar Haer

(B) @i F@=

(C) femg el dfeq

(D) TARTF g,

“R-0-99E” % &Y ¥ FRY S T 37

(A) TS
(B) & s

(C)*maﬁia
(D) &= S A

PTO)
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86.

87.

88.

89.

90.

POL.SC./AOéOlOI'I'-B/GZSO

The “Poona Pact” was concemed with

(A) Hindu-Muslim Unity

" (B) Constitution Progress

(C) Education Reforms

(D) Depressed Class

The first “Satyagrah” of Mahatma Gandhi in
India was in :

(A) Bardoli

(B) Personal

(C) Champaran

(D) Kheda

Th;a *Chauri Chaura” incident took place on :
(A) 5th February, 1922 -

(B) 4th February, 1922

(C) 6th February, 1923

(D) 9th February, 1930,

The leader of the Bardoli Satyagraha (1928)

was :
(A) Sardar Patel

(B) Govind Ballabh Pant
(C) CR.Das

(D) S.C.Bose

The Non Co-operation Movement was started

. in which year ?

() 1918
(8) 1920
(©) 1921
(D) 1930

86.

87.

88.

89.

90.

(20)

o e PR P o ?

() feeg-gRe Tl
(B) AT ST

- (C) s gAY

(D) @k &t
e # TR T P e He 9

(A) AR &

'(B)axﬁwm

() = H

(D) et |

M-I e %9 afed gl ?

(A) 5 wEd,, 1922 |

(B) 4 ®Xaq, 1922

(C) 6 ®X&Ed, 1923

D) 9, 1930

IRAE GAEE (1928) & war i & ?
(A) HER 9

(B) MR Fow T

(C) .M. aT™

O wad.a|w

AT ST e af e R T
(A) 1918 &,

(B) 1920 8.

(C) 1921 £,

(D) 1930 €.



‘ )1.

92.

93.

94,

95.

POL.SC./A060101T-B/6250

In which year partition of Bengal made by Lord
Curzon was cancelled ?

A) 1911
(B) 1904
(C) 1906

' (D) 1905

When was the first partition of Indian National
Congress held ?

(A) 1907

(B) 1906

(C) 1908

(D) 1911

“Ganpati Festival” in Maharashtra was stérted
by:

(A). Bal Gangadhar Tilak

(B) Gopal krishna Gokhale

(C) Bipin Chandra Pal

(D) Aurobindo Ghosh

Who is the author of “India Wins Freedom"?
(A) Jawaharlal Nehru

(B) Motilal Nehru

(C) Maulana Abdul Kalam Azad

(D) None of the above

In which session of Congress was Poorna
Swaraj declared ?

(A) Allahabad Session

(B) Ahmedabad Session

(C) Lucknow Session :

(D) Lahore Session

91.

92,

93.

94.

95.

(21)

e For B BB T ETe Reee 9
Ty e R ?

(A) 1911 .
(8) 1904 €.
(C) 1906 €.
(D) 1905 &.
‘IR T FRE” & 9o e 3
BT I

(A) 1907 é

(B) 1906 §.

(C) 1908 &.
(D) 1911 £.

TRrsE & Tl weea” Reed g are
foar T/ ?

(A) T MR fows

(B) MU FoT Mt

(C) Rt == qt

(D) ofe= iy

“ieea [ WISH” & oEd P B 7

(A) STERRE AT '

(B) Hrim 5w

(C) AR /W HAH A

(0) ST H | i T

Hi9 7 6w SRy § oof et 1 S
P ?

(A) SRR SRR
(B) TEHREE SfEsN
(C) TETS AT
(D) TR SRy

[PT0]
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96.

97.

g8.

99.

100.
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The total number of members ORIGINALLY
designated for the Constituent Assembly were :
(A) 296

(R) 202

(C) 389

(D) 293

The aim of Directive Principles of State Policy
in Indian Constitution is

(A) To Establish Communist State

(B) To Establish Capitalist State

(C) To Establish Public Welfare State

(D) To Establish Presidential Democracy

In which part of the Indian Constitution are the
Directive Principles described?

(A) FirstPat

(B) Second Part

(C) Fourth Part

(D) LastPart

In which article of the Indian Constitution is the
"Right to Freedom" listed ?
(A) Aricle-14
(B) Article-19
(C) Article-25
(D) Article-32
The time taken to frame the Indian Consfitution
was :
(A) 1year 10 months 15days
(B) 2years 11 months 18 days
(C) 3 years 4 months 10 days
(D) 4 years 3 months 5 days

96.

97.

98.

99,

100.

(22)

Wwﬁﬁﬁ%wwﬁwﬁ&
(A) 296

(B) 292

(C) 389

(D) 293

Wi dRym #§ e Afa Fevs ot @
kA &

(A) TREET TS B T

(B) Tl T A I

(C) TH FCTHY TF D TG

(D) STEHAWTH A= I TGl

T HRE & BF-3 am § i Ry
T W IE © ¢

(A) o W

(B) faia s

(C) A W

(D) S |

R HRH % T B o B
q R orgRe ¥ affa & 2

(A) Srese-14

(B) arge8a-19

(C) erge8s-25

(D) Srge8z-32

M F G & R ww
T ?

(A) 139 107 15 Ry

(B) 2a¢ 119w 18 Ry

C) 3af 4w 10 Ry

(0) 4ot 37 5 Ry
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Author of the book "'Wealth of Nations' - I
(A) Herbert Spencer

(B) . J.S. Ml

(C) Laski

(0)  Adam Smith

‘ lndividua[ist consider State : 2
(A)  As a necessity

(B)  Asan Ethicalinstitution

~(C)  As a necessary evil

D) As a totally unwanted institution

Author of ‘Communist Manifesto’ : 3.
() Hegel

(B) Marx

(C)  Barker

(D) Laski

According to Marx, all fundamental historical 4.

changes are determined by the :
(4)  State

B) Working class

- (C) Capitalist class

(D) Economic forces

(3)
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POLITICAL SCIENCE/A060201 . /559,

- ~ie the of
. Which one of the following is the feature

Presidential System?
() 'Principal of Checks and Balance

(B)  Separation of Powers between
“Executive and Legislature

(C)  Fixed Tenure and quick decisions
©)  Allof the above

In a Presidential System like USA :
(A)  President represents a political party
(B) President is Non Party man -

(C) President is collective choice of all
parties

(D) Presidentis president of a particular
Political Party also

Which one of the following is not 3 feature
of a Federal Government?

(A)  Single Status of Government: at
central level and at unit level

(B)  Division of Powersvbetween Centre
and State

(C)  Division of Powerg mentioned in
Constitution/Acts
(D) Indeperdent ang Impartial juﬁiciary

to settle the disputes between
Centre and State

o

(4)

ﬁﬁﬁ‘rlf@ﬁﬁﬁﬁ?fﬂ%m;ﬁ

e 82 -
A 9% A T F R

(B) PR O e 3 g,

ﬂﬁaﬁfzsrngr

.(C) ﬁféaamamaeﬂ?c‘crﬁaﬁvr

O IR wd |
i3H T SR ST TRy o

(A) U TH IS @ g
gl Ha &

(B)  UsUid REl oft ol @ mem

. WEmy ;
O e W o A o

O T R Ry e T

H W e S S

P % & . i e

fodiyer & %7

) R P Ry S

W 3R 3P &R W

B % ol T & e oA
st |

©) e o ¥ affa A

SRERIEC -
O S o wor & A9 P F
Frvert 3 firg st o P



8, Which of the following is not a necessary 8

condition for the success of Democracy?

(A} Social and economic equality
(B)  Sound party system
(C) Freedom of press
(D)  State religion
9. An opinion io be considered as public 9.
opinion.
(A) It must emanate from the people as
a whole
(8) It should not be & sectional interest
(C) - It should have the consent of the '

0)

" 40, Whichis amethod of minority representafion? 10.

g
(B)

(C)
D Alof the above
1 Which is an agent of Public opinion? - "
(A) | Political party
(B)  Press
(C) Educational institutions

)

POLITICAL SCIENCE/A060201T-C/5200

minority

All of the above

The Limited Vote plan
The Cumulative Vote System

The Separate Electorate System

All of the above
(5)
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' i3l power
12 The process whereby an impenal PO

- er ils
gives up its formal authorities 0V

colonies is called :

A
®)
)
O

Colonialism
Impenialism
Decolonialization

Neo-colonialism

13 One of the major factors that has stimulated
the globalization process is :

(A)  Effective utiization of resources
B)  Increase in income and wealth
(©)  Wilingness to cooperate
O} Rapid improvement in technology
14 Whos the celebrated author of ‘Law of the
Constitution'? '
(A} AV. Dicey
(8)  HermanFiner
) RG. Gettel
Oy Fw Willoughby
15 Direct Democracy s the System in which -
(A)  Citzens choose fhe representatiyes
in free and far electiong
(B)  Citizens are allowed to debate wity
their representatiyes in open pubjig
meetings
(C}  Citizens fEpresent themselves jp
the decision Making process
() Senior poliicy leaders gro known
as ‘directors’

POL!TICALSCIENCFJA060201T.C/5200

12,

13.

14,

15.
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16.

17.

18.

According to Marx, in the 'Class War', Who
will come out victoripus?

- (A) Bourgeoisie )

(B) Capitalist Class
(C)  Proletariat
(B)-  Middle Class

Which one of the following'is not the feature
of Parliamentary System?

(A}  Executive resporisible to

Legislature

- (B) Real & Nominal Head of State are

different

() Prime Niinister is the axis of Political

power

(D)  President is directly elected by

people

Which of the following country is not having

Parliamentary System?
(A) Indiva

(B) Pakistan

(C) USA

(D) | ~ None of the above

16.

17.

18.
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20,

21

Which of the following claims is the most 19.

plausible according to social scientists?
(A} Nationalism should be eliminated

(B)  Nationalism has both good and bad

consequences

(C)  Nationalism is a form of prejudice-

plain ard simple

(D) Nationalism is important because
without it politics would be

meaningless

Which type(s) of nationalism isfare thought ~ 20.

of as normally establishing membership in
the nation on the basis of imagined biological
ties?

(A)  Civic nationalism
(B)  Ethnicnationalism
(C)  Terntorial nationalism

(D)  Both (A)and (C)

Globalization by connecting countries leads 9 _

fo:
(A) Lesser
producers

competition  among

(B)  Greater competition among
producers

(C) No competition among producers

()  None of the above
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22. The right to elect Member of Parliamentisa:  22.

(A) _Political right

(B)  Social right

(C) Religious right

D) Moral right

A Who wrote the work “Representative  23.

Government’?
(A) Lowell

‘ (B)  TH.Green
(C) J.S. Mill

D) Laski

24. Human rights, traditionally are dividedinto: 24

(A) Plitical and economic rights

@) Political and socid rights on one
hand and cultural rights on the other

(C) Civil and political rights

o)  Ciil and political rights on one hand

and the right to development on the

other

POLITICAL SCIENCE/A060201T-C/5200 (9)
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25.

26.

2.

28.

POLITICAL SCIENCE/A060201 T-C/5200

Whose name is primarily associated With

organic theory of the state?
(A) August Comte

(B8} Maclver

€ Herbert Spencer

D) T.H. Green

Idealistic Théory is also called :
(A) Socialistic theory f
(B) Divine theory

(C) Anarchist theory

(D) Metéphysical theory
Bosanquet's name is as.sociated with :
(A) Organic theory

(B) Idealist theory

(C) Anarchist theory

D) Socialist theory

Ideology that advacates maximum possible

freedom to individual and minimum of state
functions :

(A) AFascism
(B)  Marxism
©  Individualism

(D)  Gandhism

25.

20.

27.

28,
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29.

30.

31.

532,

_ POLITICAL SCIENCE/A060201T-C/5200

Choose the tactic not generally associated ~ 29.

with pressure groups :
(A) - Lobbying
(B) Strike -

(C) Generating favourable public

opinion

- (D) Use of muscle power

Primary reason for the formation of Pressure - 30.

group is "

(A)  To capture power
(B) Self-interest

(C) To a mass wealth

(D) All of the above

Bi-party system exists in : . 31,

(A) India
(B) Pakistan
(C)  SriLanka

(D)  None of the above

The term 'Globalization’ was coined by : 32,

(A) Kaplan
(B) . _Theodore Levitt
(C) Burton

(O)  Spiro
(11)

of TR gt S o W TEE
R AT -
W T

B) TS

©) aﬂa@faﬂﬂa%mm

O g @ ST

Tar WG B e H HEE FCT E
A) g W FE A B [

@

€ = Il B b o

) IqUFT Gl
femeta Fomell AR ® ¢
A)  aa H
(B) qrmaﬁﬁ

- (©) sireiepr &

O) SUE T | B @
“TREAEHIT Globalization’ S Rrad

a2 Rar oA

A T
B) FeER MW
© &= '
O W

PTO]



33;

34.

35.

36.

POLITICAL SCIENCE/AO60201T.0/50

‘Euro centrism’ as the ter
was coined by whom?

(A)  Karl Marx
B) Green
(C)  Samir Amin

) Rousseau

Political Science stresses the study of 34,

(A)  Government
(B)  State

()  Power

- (0)  Allof the above

Which factor is necessary for the 35.

development of democratic institutions?
(A)  Strong military forces

(B) Respect for individual rights

(€  Aone-party system

@) AnAgricultural economy

The principle “Fair equality of opportunity”
was developed by :

(A)  JohnRawls
(B) Plato
(C}  Rousseau

(D)  Locke

(12)

m for an ideology 33.

36.
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37.  The emergence of constitutionalism is 37,
associated with which of the following?

(A) The emergence of contracts
" between rulers and ruled

(B) Greater agricultural productivity
(@ lncreasing theocracy

D) The emergence of totalitarianism

38.  Which of the following will characterize a 38,

constitution that is relatively rigid?

(A) Difficulty in ensuring judicial review
(8) Difficulty in making amendments
(C) A very rigid culture

(D)  Parliament having no power to

amend

39. India follows : ‘ 39.

| (A)  Direct democracy
(B) Participatory democracy
() Representative democracy

(D) rNone of the above

POLITICAL SCIENCE/A060201T-C/5200 ( 13)
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U0
—

A0.
40.  The natural right that was nol advocated DY
the political theorists of the 17th and 18th
centuries was the right to:
(A)  Lfe
B Libery
©  Information
©)  Property
&1 According to Marx, the Dictatorship of the 41,
proletariat signifies : |
(A)  Transitional state
(B)  Anideal state
(C)  Aliberal state
©)  Anautocratic state
42. One of the senous hurdles in the way of 42
implementing the ideals of welfare state s ;
(A)  Reluctance of government servans
1o assume more responsibility
(B)  Indifferent attityge of the politiciang
(C)  Lack of interesy by the comman
people
(0)  Reluctance of People to pay high
taxes
POLITICAL SCIENCE,’AOGOZOI"{-C/SNO (14
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43. Which one of the following country is not an
example of Unitary Government?

(A) United Kingdom
(B) India
(C) Afghanistan
(0)  China
44, Which of the following is a Unitary State?
(A) United tates of America
B) France
(®) Venezuela
(D) Nigeria

45. Which of the following is a Federal Country?

(A) France
(B) Brazil

(C)  United Kingdom
D) Italy

46, Whichin
Democracy?

(A) Universal Adult Franchise

Elective legislatures

(8)
(C) Civil liberties
(D) perfect economic equality

' POLITICALSCIENCE/A0602OIT-C/5200

43.

44.

45.

not an essential characteristics of ~ 46.

(15)
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47.

48.

49,

POLITICAL SCIENCE/A060201 T-C/520

An organization of independent states linked ~ 47.
by their common ties to the former British
Empire is called

{A) Containment
(B) Commonwealth
(C) Dominion‘

() Protectorates

The process whereby a colonial power  48.
grants judicial independence to a colony,
but nevertheless maintains a ‘de facto'
political and economic control is known as:

(A) Neo-Marxism

(B) Neo-Communism
(C)  Neo-Colonialism
(0)  Neo-Fascism

Which of the following claims is the most 49
closely assoclated with primary ideas of I

nationalism and nationhood?

(A} Nationalism emerged in late 18t
century

(B) Nationalism is exclusively a source
of evil ‘

(C)  Nations have existed for very long

time, sitce well before modernity

(D)  Nations are from oyr prehistory, but
are no longer with us

(16)
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50. © ‘Who said, 'Power is Capacily to influence’?
(A)  RobertA. Dah|
(8) l.ord Acton
(C) - Max Weber
(O) - Lasswell

51. . Who among the following gave the concept
of Traditional, Charismatic and Legal
Rational Authority?
(A) Max Weber
.(B) Karl Marx
©) Gettel

| (D) | Talcott Pérs‘ons

52.  Who said, "Politics is Struggle for Power"?
(A) Morganthau
B)  RobertA Dahl
(C) Laski
(0)  Maclver

53 Authority can be defined as :

(A)

POLITICAL SCIENCE/A060201T-C/5200 (17

Legitimate Power

Ilegitimate Power

~ Political Power

Dictatorial Power

51,

52.

53.
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54.

95.

96.

7.

;1 T CIENCE/A060201T-C/5200

The term ‘Politics’ is derived from 54.
(A) Latin word 'Polis'

B) Greek word 'Polis'

(C)  English word ‘Political

)  Greek word ‘City-State'

Political Science is a discipline : 9.

(A)  which does not subscribe to any
value

(B)  which provide value free analysis
)  meant to study values

(D) that cannot ignore values

- Scope of Political Theory is

56.
(A)  the study of power
(B)  -to determine the political principles
(C) the study of state and government
(D)  Allof the aﬁove
A man by nature is a social and poliical 57,

animal is the comerstone of the philosophy
of .

(A)  Plato
(B) Socrates
(C) - Aristotie

(D) Montesquieu

(18)
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58.  Who wrote the book ‘On Libertys - 58, ‘aif forardl geam R Rt 27

(A)  Henry Maine A T
B)  J.S. Mmil : ®  Srua. i
(C)  TH.Green €  AuE A=
| (O)  Laski o) e

59.  Identify the focus of Modern Liberalism : 59,  @TgFeb SaRA & a7 bl e e -
(&) Family ' (A)  9RER
(B) - Community - |8)  WHME
©  Indvidua | © @
(D)  Society | o wm

60.  TEHRIH e W Y © -

IRCECI %. ferm Tt

® Liberty vilh some restrints B) B dRE & e

© % uRee & e

O A SR S e

60.  Negative Liberty means :

(A) Liberty without.réstraints : (A)

(C) ‘ Liberty with many restraints

(D) - Liberty with a few restraints
straints, society 61, LN S F ST T

61. '. In the absence of legal con
would : ' , A e el g
{A) ., Progress= i ' s o L
()  Descend ino chaos e WE:L 3
(C) . Function of the principles of moral g T |
" Jiberty : i .
©  Resolvs disputes vilh {1° help of ©) g“‘“‘m;m 11‘6;:" A T
spiritual gurus :
c/az (A% [PTO]
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62.

Integration of Political Science with other 62

Social Sciences is a basic principle of : & Wﬁ?ﬁ"’ e gd e 22
(A) -Traditionalism SR TTEER

(B)  Behaviourism | (B) AJEI@E

(C)  Liberalism €) TEEE

©)  .Post-Behaviourism . 0) S ARRIR

63.

Traditional view of Politics : _

(A) Politics is the study of state and the
government

() Study of analysis of the whole of o
the political system

© Class struggle between haves and
have not ) ©

(D) Relationship between environment

Mark the correct statement refated to the ~ 63. TSIl & IR e § T

O WA T 3 g
and the system T
" B4, Objectivity means : v 64, a'{ghm m g 2
(A) Precision (A) & :
(B).-- Takiné nothing for gréntea ® @ w m-{ T B
(C) Eliminaling bias c) T‘ﬁﬂ_@' i @F’{.m |
5 | Repeating observations 0 eyt N —

OLITICAL SCIENCE/AO60201T:C/5200 (20 )
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65.  The essential principle of modem jusfice is: 65

" (A) Judges shou!d be part of executive

(B) _There should be independence of
judiciary

(C) The judges should be under the

control of the Head of the State

D) The judges should be under the
~control of the electorate '

66. “The Social Contract lhéory has been ‘66.
- criticized as bad history, bad logic and bad
ethics.” Who said it? -

(A} Henry Maine

(8) H.J. Laski
8 (o) Rl Wns_on ‘
D) Ernest Broker _
67. ‘Twé Treatiées of Gove}nment' was written 67.
by: '

(A) John Locke
(B)  J.J. Roussead
(c)  Thomas Hobbes
(D)  Spencer
. % Asociavﬁs't state lays em
(A)  Political liverty -

(8)  Economic security

(03] Right to private property

(0)  Independence of judiciary

' - 21
 POLITICAL SCIENCE/AB0201 T-C/3200 ( 215)
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; fiﬁﬂﬁ bumqﬁﬁﬁﬂ%’,ﬁw
69 :

5 olds
69.  Who said, “Justice is the bond which

£ wh aY T ¥
society‘ together“? i o
‘ (A) ”Green. (B) %ﬁa
(B) Hegel - e
© Plato
D) &
(8) Rousseau ©)

| | ¥ A F A A
70, Which one of the following is a central 70, et ‘

attribute of Plato’s notion of Justice? ieu e R T 7
(A)  Equality ‘ - (A) HHFI?IT

®)  Liberty (B T

(C)  Harmony | : iy (0) A

©)  Fratemiy ‘ O T

71 Whosaid, "Politics is the study of influence 71, (hE™ e, “ToT ey STTE SR TGRSl
and the influential"?

AT &7
(A) Lasswell (A) | S ORI
B)  Lask B e
(C)  Weber ©) Ere
D) Bodin 0) S
72.  Who among th ' “Doliti : :
oo b biodo
i | T, B AR R Prerr. 37
(A)  Gamer | A ey ,
(B) ?ierce ®) : - '
(C) Hillman c \
(D) Lipson ED)) m

POLI"I'ICALSCIENCFJA060201'F-CIS206 (22)
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74.

i 75

POLITICAL SCIENCE/A060201T-

identify the Thinker associateq with the 73,
Modemn Approach -

(A) David Easton

(B) Plato
(€ Aristotle
D) Socrates

Behavioural approach in political science  74.
is “an attempt to make the empirical content

of political science more scientific” who said

this?

(A)  Charles E. Merriam

(8)  David Easton

(C)  Powell

(0)  RobertA. Dahl

The Input-Output approach was developed  75.

by :

(A)  RobertA. Dahl
()  David Easton
(C) Manx

(0)  Lasswell

c/5200 (23)
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76.

7.

78.

Political Culture is the pattern of individual ~ 76.

attitudes and orientations towards which of

the following system?

(AY  Social system

(B) Economic system
(€) Political system

(D)  Environmental system

Which one of the following is not Lucian ~ 77. :

Pye's three basic characteristic features of
Political Development? |

(A) Equality
(B) Capacity
(C)  Differentiation

D) ~State

Who observed that the maintenance of 78

political stability as the ultimate goal of
Political Development?

(A) . SamuelHuntington

(B)  Allan Bl
() Karl Marx
(D) Dahl

’

POL;ITICAL SCIENCE/A060201F-C/5200 (24 )
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79. - The exponent of Legal theory of Rights is : 79,

(A) Green
(B) Locke
(C)  Austin

(D) Rousseau

80.  Who said, "Rights are‘those conditions of  80.

social life without which no man seek to be

himself at his best"?

(A)  Wilde

() Plato
" (©)  Locke
O  Laski

by Society and enforced by the State™?
(A)  Aristotle
(B)  Cicero

. (C)  Bosanquet

© Ml

82.  The term 'Liberty’is taken from ‘Liber' which ~82.

is a word from

(A) Latin language
B) -. Greek language
(C)  English language

(D)  French language

POLITICAL SCIENCE/A06020 1T-C/5200

~ 81.  Who said, “A Right is a claim recognized  81.

(25)
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83.

84.

85.

- 86.

In the theory of the origin of the state, political 3.
consciousness is a factor in :

(A)  Divine Origin Theory
(B)  Force Theory
(C)  Social Contract Theory

(D)  Evolutionary Theory

Which one of the functions listéd belowfalls  84.

in the category of compulsory functions of
State?

(A)  Regulation of trade and industry

(B)  Protection of health and medical
relief

(€ Maintenance of civil and criminal
courts

(0)  Maintenance of works of public iy

One of the protective functions performed g5

by the welfare state is

(A) Provision of education

(B)  Regulation of working conditions
) Protection of health

(Oy  Protection of family

Who said that individual is an instint partof  86.

the state? (A
(A)  Aristotle i

(B)  Locke

()  Rousseau

D) Lenin:

POLITICAL SCIENCE/A060201T-C/5200 . ( 26 )
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87.

In Buddhist philosop-hy, freedom is directly  87.

- related to @
() Discipline
(B) - "Rights
(C) Co-nstilution
(D) State

88 -

89.

90.

POLI

A Thinker who does not belong to the 88,

negative liberty school of thought :

(A)  Adam Smith
(B)  John Locke
(C)  Thomas Hobbes
(D)  Karl Marx
Positive Liberty means :
(A) Lib.e‘rty to do anything
(B) - Liberty with restraints
(€ Only restraints |
(D)‘ None of these
The statement that “Men by nature‘ are equaI‘.‘ 90.
is given by " 4
(A)  Hobbes
(B) Locke.
()  Rousseal
(D) Laski a)
[ICAL SCIENCE/A060201'I'-C/5200 (27)
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P R Sy e W

91.  lIncreasing the capacity and capability of the ~ 91.
political system to find and utilize the

resources of the country, is called :
(A Political Development

{B) Pdlitica! Modemization

{C)  Political Change

(D) Politicar Power

82, Which is the firstimportant agent of Political ~ 92.

socialization?
(A} Society -
{B) State

©  Poliical party
{0)  Family
93.  Political sub-culture is the part of :
(A)  Social culture
(B)  General culture
(C)  Politica culure

D) Culture

94. Who said Justice as the mixture of Liberty  -94,

and Equality?

(A)  Plato

(B)  Aristotle
(C) Rousseau
(D)  Hobbes

pOLITICAL SCIENCE/AO60201 T-C/5200
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95. Which of the following statements is correct?  95.
(A) Liberty and Equality are opposed
to each other
B) Liberty and Law are opposed to
each other
(C) Liberty and Equality are
supplementary
D) Liberty and Equality are
contradictory
96. For Marxists, the fundamental equality is : 96.
(A) Social equality
(B)  Political equality
(C)  Economic equality -
D) Legal equality
97.  Civil liberties and political rights form the 7.
" basis of :
() Democratic Government
(B) Monarchical rule
) Totaltarian Government
(D) Dictator rule “ |
i ] 29 )
/5200 (
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98.

9.

pOLI

-

100.

"If sovereignty is not absolute, N0 state can
exist." This ic a statement made by’

(A)  Laski
B)  Gettel
(C)  Austin
(D)  Barker

\

Which of the following is not a requirement . 99,

on the definition of ‘legal punishment'?

(A) It must be for an offense against
legal rules

(B) It must involve unpléasant |

CONSEeqUeNces

(C)  Itmustnot necessarily be an actual
or supposed offender

(O)  Itmustbe intentionally administered

by human beings other than the

_ offender

An important non-state actor in any ~ 100.

democracy in present times is :

- (A)  Judiciary

(B)  Local government -

‘_ (c)  Civil society organisations

o  Cwi services
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(Indian National Movement & Constitution of India)
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Note- This paper consists of-,‘thfee Section A, B and C.
Carefully read the instructions of each Section in
solving the question péper. Candidates have to write.
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section-A
- gue—3
(Short Answer Type Questions)
(erg—Swd )
Note- All questions are compulsory. Answef the féllowing
questions as short answer type questions. Each
questién carries 5 marks.

L. (A) The main causes of rise of Nationalism 10
India
R W NAE & 9ed @ T SR
o B B : ]
| (B)  Maip Sources of the Indian Constitution
( R R T A | |
0 |
Citizep Amendment Act (C. A. A.)
B ey T BT (Yo To To)
(K-005) pag
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(D)

Fundamental Dutieg

e ey
(E) Importance of Directive Pn'n;:iples
e Frdere i a1 weeg
(F)  Rajya Sabha
S JT
(G)  Powers of C. M.
== o wfeaat
(H) Independent Jud'ici_ary

WA= Uil

(I) - Center-State financial relations

- ey fd<i ey
Section-B
Yls—q
(Long Answer Type Questions)
CEESAHU S ES)
BATTA0G60T0IT (K-0035)

age-3



ontains four questions from which one

Note- This section €

question is O be answered as long question. Each

question carries 15 marks.

- Wmﬁmﬁﬁaﬂﬂﬁ%fﬁﬂﬁ%wm
T afd 3| S WE 15 3D F T
2 What was the contribution of Revolutionaries 1n
Indian National Movement ? Discuss.
R T STRE § mTRal A oA
fader @ifer |
(Or)
IRIAT
| 3. Throw light on the making of Indian Constitution.
R R & fior W e S|
(Or)

RG]

~ (K-003)




4. “Fundamental Rights in India arc not absolute, they
are limited.” Explain this statement.
"Wﬁﬁq‘\%ﬂimﬁaﬁﬂﬂﬁ%ﬁﬁ%%i"sﬂ
o ) e B |

(Or)
JFAdl

> What do you mean by the term ‘Basic structure of
the constitution’ ? Discuss. '
e & A ¥ T S E
Piforg |

Section-C
w4
(Long Answer .:I"yi)'e Questions)
(-t )
Note- This section contains fdur questions from which one

question is to be answered as long questiorn. Each

questlon carries 15 marks.
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6. Analyse the emergency ‘powers of the President of
India- o3
oA B TG W I WM B R
ity |
on
. ST
_ Discuss the role and position of the Governor at the
‘ thpe of Constituﬁonal Crisis in a state.
TR W oe & o @ v o
Refty 31 Rty i |
(Or)
 qr

Examine g, functions ang powers of Supreme
Court in India,




Examine the functions and powers of Election

Commission.
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Instructions to the Examinee :

1.

Do not open the booklet unless you are

asked to do so.

The booklet contains 100 questions.
Examinee is required to answer 75
questions in the OMR Answer-Sheet
provided and notinthe question booklet.
All questions carry equal marks.

Examine the Booklet and the OMR
Answer-Sheet very carefully before you
proceed. Faulty question booklet due to
missing or duplicate pages/questions or
having any other discrepancy should be
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Four alternative answers are mentioned

for each question as -A,B,C&Dinthe
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The concept of 'Separatioﬁ of Powers" is
given by :

(A) Hobbes

(B)  Locke

() Jean Bodin

D) Montesquieu

Who said that "Political Science begins and
ends with the state" ? .

(A)  Gamer
(B)  Aristotle
(C Leacock
(D)  Dimock

Indentify the thinker associated with the
modern approach :

(A) Machiavelli

(B) Karl Mark

(C) David Easton

(D) Plato

"Man by nature is a social and political
animal”, who said this ?

(A)  Plato

‘(B) Aristotle

(C) John Locke

(D) Bentham

Which one of the fblfowing theories is the
most acceptable theory regarding the origin
of state ? '

(A)  Divine origin theory

) Force theory

) Evolutionary theorv

(D)  Patriarchal theory

o w
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8. Who of the following has said that "Man was 6. “q@m et o T S 0 N
born free and today he is everywhere in = 23 AT S & 3 )
chains" ? ) U
(A)  Hegel , , B) el
(B)  Machiavell o &g, 3
(@] ;H. Gr(;eun 0) ——

ousse

7. (TDrze three most prominent exponents of 7. AT ;q@?" m 3 N &
social contract theory were : ERNICER
(A)  Hobbes, Locke, Rousseau . () o, A, T '

B)  Austin, Locke, Bodin B)  omied, Wi, WM&
(C)  Mil, Adam Smith, Hobbes ) I, wew Ry, e
©)  Maclver, Bodin, Laski 0 EE, @, A
8. The Social Contract theory is based on : 8. TN GHE R oM §

(A Individualism (A) - TREE
(B)  Nationalism , B USEAE W
()] Socialism : ) TSR T

- O Idealism D) TR ©

9. Match the following - 0, T e R
t)ist-:)l t -1
) Plato . .

(i) Arstotle ) ‘ 8) i
(i) Laski o ST
(i) Hobbes | (i) aret
List:I ) e
1. Grammar of Politics | el
2. Leviathan 1. TR 3l ‘ﬁﬁ'ﬂ%q:q
3. The Politics 2, SR
4. The Republic - 3 E\- mﬁfﬁqﬂ

0 ) iy ( (iv) 4 R Rufe
AR R 0 G @i )
e W45
© 3 4 1 ® - ¥ 3: 1
(D) 1, 2 3, 4 (C) 3, 4| 2' 1

TR
- A060201T-A/5195
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10. Which one is not an essential element of
state ?
(A)  Population
(B) Territory
(®) Democracy
D) Sovereignty
". Which pair is not correct ?
(A) Auguste Comte - Sociology
B) Adam Smith - Economics
€ Sigmund Freud - Psychology
D) Horodotus - Political Science
12, Which one of the following pair is not correct
match ?
(A) Early Institution - Henery Maine
(8) The Modern State - Maclver
(03] Lectures on Jurisprudence - Austin
D) Two Treaties on Government - Plato
13. Powerful theoretical backing for democracy
was provided by :
(A) Hobbes
B) Locke
(®) Bentham
D) Burke
14. In which country there is no democracy ?
(A) India
(B) US.A.
(€ China
(D)  France
15, State is Prior to individual — who said ?
(A)  Marx
(B)  Aristotle
(C)  Plato
D) Lenin
A060201T-A/5195 (5)
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16.  "Property is heft" is said by :
(A) Lenin
8)  Proudhon
(C)  Walzer
0  Craft
17. A form of democracy in which citizen elects
representatives 10 make governing
decisions on their behalf is @
(A)  Deliberative democracy
®)  Liberal democracy
(C)  Social democracy
©) Representative democracy
18. Who gave the concept of popular
sovereignty ?
(A) John Austin
()  Jean Bodin
(C)  Rousseau
(D)  Montesquieu
19.  Among these which is not characteristics of
sovereignty ?
(A)  Divisibility
(B)  Absoluteness
(C)  Permanence
(0)  Universality
20.  Integration of political science with other
social sciences is a basic principle of :
(A)  Individualism '
(B)  Liberalism
(C)  Behaviouralism
(O)  Post-Behaviouralism
A060201T-A/51 95
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21. The book "Das Capital" was written by :
- (A) Karl Marx

(B) Herbert Spencer
(C) Seeley
D) Laski

22, Who among the following said "Liberty is
the opposite of over government" ?
(A) Seeley
(B) Sir Ramsay Muir
(C) Bentham
(D) Gramsci

23.  Which is not an organ of government ?
(A) Legislative
(B) Executive
(C) Press
) Judiciary

24, "Positivism" is advocated by :
(A)  Auguste Comte
(B) Spencer
(C) Hegel
(0)  Montesquieu

sl In Parliamentary system real power is
exercised by :
(A)  Parliament
(B) Lower House
(C) President
()  Cabinet

A060201T-A/5195
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2655 waunianies has a constitutional monarchy.
(A)  Nepal
(B)  Srilanka
€ USA
()  Briain
27.  Which one is not correct match ?
(A)  Leviathan—1651
(B)  Social Contract - 1762
(C)  Escape from Freedom - 1941
()  OnLiberty — 1879
28.  What is another name referred to World
Bank?
(A) IDA
() IBRD
(C) IFC
(D) Al of the above
29.  For whom "All existence is simply a matter
in motion" ?
(A)  Plato
(B) Hobbes
(C)  Green
(0)  Rousseau
30.  Whois the propounder of Labour Theory of
Value ?
(A)  Lenin
(B)  Stalin
€)  Locke
(D)  Hobbes
31. "Manis what he eats’, who said 7
(A)  Marx
(B)  Engels
€  Lenin
D)  Feuerbach
A060201T-A/5195
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3. "State is the March of God on earth” said ~ 32. ‘A TER W AT AT B

by: R el & 7
(A Hegel (A) e
B)  Green | I
(C)  Bentham )  F=H
©  J.S.Mil , O  Sroa. e
33, 'The rise of European Liberalism" is the 33,  “R% g1 &if® At fesnfeea” @
writing of : » e |
‘(A)  Laski | (A) R B
(B)  Gilchrist @) e @
(C) - Oakeshott , )  ifedife &
(D) Moore _. 0) g
34, "Nazism" is the ideology of : 3. Aetar fErE ©
(A)  Germans : A) SR #
(B) ltalians B)  gea #
(C)  Americans ; C)  STHIEH @
(D)  Britishers ’ o BRE
35. “Democracy‘isadecaying corpse”isrelated 35 “Aba=l TH Fsdl §,§ T g w;
with : ' T B
(&) Idealism @A) TREEEE -
(B)  Fascism s ' B) wEER ¥
(C) Capitalism € TEiEEd
(D)  None of these : , () I s B A
36.  Sources of Laware: 6. FA D G g
(A)  Customs = (A f-Raw
(B)  Adjudication B = Fl
(C)  Religion C) &
(D) Al of the above . 0) S gl
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a7 Choose the type of stages of equality
advocated by John Rawls :
A 2
® 3
© 4
o 3
38, Which of the following is not fundamental
postulates of justice ?
(A T
B)  Equality before Law
(C)  Freedom
(0)  Property
338,  The term justice is derived from the word
*Jus" which is a word from language :
(A)  Latn
(B)  Greek
(C)  English
(O)  French
40.  Which of the following is the main feature of -
the parliamentary system ? .
(A)  Written Constitution
(B)  Bicameralism of Parliament
(C)  Executive is responsible to the
legislature for its Policies and Acts
D) Separation of Powers
41.  Free and Fair participation in election is
associated with :
(A)  Legal Justice
(8)  Social Justice
(©)  Political Justice
(O)  None of the above
A060201T-A/5195
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42,

of Justice ?
(A)  Statesman
(B)  Republic
(®) Laws
D) Politics

43.  Who of the following s not associated with |
Liberalism ?
(A) J.S. Mill
(B)  TH.Green
(C) Robert Dahl
D) Hegel

44.-  According to the individualists, state is :
(A) A necessary evil
(B) An unnecessary evil
(o)) Welfare state
©) An instrument of exploitation

45, Which of the following countries has very
rigid Constitution ? -
(A) India
(B) Canada
(C) U.S.A.
(D) Australia

46. A flexible constitution is found in :
(A) Britain
(B) U.S.A.
(C) India
(0)  China

A060201T-A/5195

In which book Plato elaborated the theory
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47. Which one of the following is not a feature
of constitutionalism ?
(A) Limited Government
(B) Supremacy of Law
(C)  Division of Powers
(D)  Supremacy of Individual
48.  Social welfare theory of rights is associated
with:
(A)  Marxists
(8)  Anarchist
€ |dealist
(O)  Utiitarian
43, Behavioural thinkeris :
(A)  Charles Merriam
(B)  ArthurBentley
(C)  Robert Dahl
(D) Al of the above
50.  Who is known as the father of "Liberal
Political Philosophy" ?
(A)  Hobbes
(B)  Locke
(C)  Rousseau
{O) Al of the above
51, Which one of the following factors hampers
the growth of a healthy public opinion iy 5
country ? |
()  Free Press
(B)  Political Parties
(C)  Povery of the People
(O)  Miteracy
A060201T-Al5195
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52.  Which Book is written by Karl Popper ?
(A)  The Prince
(B) The Open Society and its Enemies
(C) What is Property
D) Origin of Totalitarianism
53. Fascism is closely related to :
(A)  Lenin
(B) Stalin
(C) Hitler
D) Mussolini
54. According to Lucian Pye's definition which
one of the following is not linked with political
development ?
(A) Equality
(B) Liberty
(€) Capacity
(D) Differentiation
55. Fascism developed very rapidly in :
(A)  China
(B)  France
(C)  Germany
(D) Italy
56. In India we have :
(A)  Multi-Party System
()  Single Party System
(C) Bi-Party System
(0)  No Party System
A060201T-A/5195
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57 Which one of the following is not an idealist
thinker?
(A)  TH.Green
(B)  Hegel
(C)  Bosanquet
O)  None of the above
58.  Which is an essential work of the state ?
(A)  Security
(B)  Implementation of Laws
(C)  Maintaining Law and Order
(D)  Allof the above
59.  ThePluralistic theory of sovereignty w'as first
propounded by :
(A)  Beffin
(B)  Nozick
(%] Von Gierke
(O)  Bodin
60.  The Pluralist are in favour of :
(A)  Abolition of State
(B) Curtailing Powers of State
(C)  Classless and Stateless Society
0  Alff the above
61.  The Courts recognize only :
(A) Legal"gbvereignty
(B)  Political sovereignty
- (C)  Social $overeignty
(D) Allof the aboye
. Fiu, 1 ‘
A060201T-A/5195

(14)

57.

58.

5. -

60.

61.

freg B F B oTeRiar) NS T R

DECA R
|) B
C) o
0 S AR T

T B AEEF T TME ?
(A g

B)  HEAl H TS

€ FEA G I T G

0) S Tl

TEaarE! T el e R
R

A S E

B) i &N

€ = fEs N

0 & N
TEEEl TR FW © ¢

(A) T & A #
®) T B e B R

%l

© @R 7 Tl e B
O SR wd @
AT AT ST B

W FE T

B ot T @

© wrifw wgm @

O R @



62. -

63.

65.

66.
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- "The passion for equality made vain the
hope for liberty" - Who said this ?
(A)  Lord Acton
(B)  Poland

| © Lord Bryce
(O)  Austin
Who said, " Where there is no law, there is
no freedom” ?
(A)  Maclver
(B)  Hobbes
(€) Locke
()] Godwin
The term liberty has been drawn ‘from the
Latin term : '

(A} Liber

~(B) Libel
(©) Labour
D) i_ingua
Liberty and Equality are -
(A) Complementary to each other
B) Contradictory to each other
(€) Unrelated to eaf:h other
0)  None of the above-
Barker Emphasized on &

" Poliical and Econoric equalty
(B) Legal and Social equality .
)  Social and Economic equality
O) Legaland Political equality
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According to socialism, state is :

67.
(A) March of God on Earth
8)  Promoter of Common Good
(€ Unnecessary Evil
D) Necessary Evil
68. The other name of the Idealist theory is :
(A) Socialist theory
()] Welfare theory
(€) Anarchist theory
D) Metaphysical theory
69.  The chief exponent of utilitarian philosophy
was :
(A) Bentham
(B) Karl Popper
(C)  KarMarx
(D)  Spencer
70.  The modem state has been described as :
(A)  AWelfare State
(B) A Police State
(C)  AMoralInstitution
(D)  An Exploitative State
71. Class struggle is related to :
(A)  Manxisttheory
(B)  Liberal theory
(C)  Idealist theory
(D) Anarchist theory
72.In Indian federal system, the state
government have the power to legislate on
all those subjects which are included in the:
(A)  Union list '
(B)  Statelist
(C}  Concurrentlist
(D) All of the aboye
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73.  Third tier of government is known as :
(A) Village Panchayat
(B)  State Government
(C)  Local Self-Government
(D)  ZilaParishad

74.  Term related to Rawl's theory of Justice is :
(A)  Veil of Ignorance
(B) Original Position
(C) Both of the above
(D) . None of the above

75.  "The Second Sex" book is written by :
(A)  Rosa Luxemberg
(B) Rosa Park
(C)  Simone de Beauvoir
(D)  None of the above

76.  Which of the following is known as the
founder of feminist theory ?
(A} Mary Wollstonecraft
(B) Simone de Beauvoir
(C)  Rosa Selazar
D) Rosa Park

77.  "Political Liberty in the absence of economic
liberty is a myth." Who said this ?
(A)  Bentham
(8)  G.D.H.Cole
(C)  Machiavell
(D)  Nozick

78.  "Lectures on Jurisprudence” is written by :
(A)  Gilchrist
(B)  Austin
(C)  Green
(D) None of the above

A060201T-A/5195
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83.

79.  Whatis the full form of SEZ?

(A)  Special Economic Zone

(B)  Special Education Zone

(C)  Special Effective Zone

©)  Social Economic Zone
80.  Globalisation caused :

(A)  Easy movement of goods, capital

and services
(B) Increasing the international trade
(C)  Companies easily operating in
various countries

(D)  Allof the above
81.  Inductive method means :

(A)  General to Particular

(B) Particpglar to General

(C)  Both(A)&(B)

(D)  None of these
82.  Anunwritten Constitution is creation of :

(A)  -Parliament

(B)  King

()  Custom and Usage

(D)  President
83.  Rigid Constitution is main feature of :

(A)  Unitary System

(B)  Federal System

(C)  Parliamentary System

(0)  Presidential System
84.  Individualism is also known as

(A)  Idealism

(B)  Laissez Faire

(C) - Marxism

(D)  Collectivism

A060201T-A/5195
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85.

86.

87.

88.

89.

90.

A060201T-A/5195

Which one of the following is a basic feature
of pluralist concept of sovereignty ?

(A) Absoluteness

(8)  Inalienability

(C) Divisibility

D) Exclusiveness

The concept of "Philosopher King" is given
by :

(A) Plato

(B) Aristotle

(C) Cicero

(D)  None of the above
"Development Trap" concept is given by :
(A) E.A. Shills

(8)  Fred W. Riggs

€ JA. Kahl

(D) Gunnar Myrdal
"Structural-Functional" theory is given by :
(A) Almond and Powell

(B) Sidney Verba

€ Lucian Pye

(D) Sartori

Indian Political System is known as @

(A)  Federal Parliamentary

()  Unitary Parliamentary

(C)  Federal Presidential

(D)  Unitary Presidential

Which one of the following country have
direct democracy ?

(A) Canada

(B) Britain

(C) Germany

(D) Switzerland

(19)
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91, The Universal Declaration of Human Rights"
was adopted by the UN General Assembly
in the year of .
(A) 1946
B) 1947
C) 1948
0 1949
92 Max Weber was a ............ philosopher.
(A)  French
B8)  Malian
C)  American
O  Gemman
93.  Which system is advocated by Post-
Modemism ?
(A)  Socialist System
(B)  Negative Liberalism System
(C)  Positive Liberalism System
@  Totalitarian System
9.  According to Max Weber, the types of
authority is :
(A) CharismaticAuthority
(B) Traditional Authority
) Rational—LegalAuthority
O)  Allof the above
9. Ina parliamentary system of govemment,
the Prime Minister | IS generally :
(A) A member of the popular house
B) A member of the upper house
© NMammmHMe%mhwwsm
Parliament
D) An experienced ciyi| servant
A060201T-A/5195
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6.  Principle of "Separation of Powers' is 9. ST JueReer o ferr @y BT L

applicable on : (A) e el ©
(A)  Parliamentary System |
(B) TS aEl T

(B)  Presidential System
(C)  Unitary System C) ThHioTh Faer W

(D)  Federal System 0)  GuTd FaE |
97.  Evolutionary theory of origin of state was o7, o o ) Rist @ @
supported by : T q :
(A)  Maclver (A)  HeHEaT B
B)  Hegel () &R &
©  Maxx C wEE E
()  Locke o) @ a
98.  Agencies of Public Opinion are : - , 98. T B el E-H g7
(A)  Press ® <
(B)  Educational Institution @ P derd
(C)  Election € g™
(0)  Allof the above o) S wf
0. Whoof the folloning lamented the "deathof et 3 & Pre Toviices & T
Political Philosophy" ? W 3@ e e ?
(A) Peter Laslett (A) fiex A
@)  RobertDahl (B) T SE
()  Winch € fm=
D) Easton D) 6
100.  There are ......... theories of punishment. 100. A& coovees R 2
A 2 A 2 i
B 3 | 3
c 4 @ 4
O 5 O 5
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e T A

gection-A

gue—Jd|

(short Apswer Type Questions)
(g~ WEF)

Note- All questions are compulsory. Answer the following
questions as short. answer -type questions. Each

" question carries'5 marks. -
vl & w4 G 9% 99 5 st @ B
. (A) Explain the short nofe on Sectio;l 356.

ITHT 356 T 3 ?
Hat sl —an O

(B)  What is meaning-of Pressure groups ?
<919 YE BT a7 aref R ?
(©) " What is the Importance of Political Parties 1 -
democracy 9. s
o NPT H e e o wee aaEe]
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(D) Challenges of Nation Building.
T fowor & TR

(E) 'Write about the différence of Pressure groups
and Political Party.

9 g oR o <d # SRR |

(F)  Discuss fundamental duties.
Hiftrs Bl o R BT |
<~ (G) ' What do you mean by Judicial Review ?
e JAREE ¥ T w e & 7
(H) What do you mean by self government 2

>

§9) Comment briefly on any one of the following:
- freiRda 3 AR 1@  wftra fead B
(1) Role of cast in Electoral Politics

... T X A S BT

(ii)  Rightto Information. -

- -

w
-

Tl 1 IRER
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Section-B

Yus—4

(Long Answer Type Questions)

(dre—swdy we)

Note- This section contains four questions from which one

ncera,

question is to be answered as

long question. Each

question carries 15 marks,
T TS H AR A I e E R Y o
B A 2 | TS T 15 aiat B 8
Write salient féatﬁres of the Indian Constitution.
IR W ) i e R

(Or)

T

Analyse the emergency Power’s of India's

President,

NGB IR A e e wf o R
ifg | |
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(Or)
L]

4. Discuss the essential elements of Political Parties in

democracy.
AFas § Ao gal o AED gaar @ fade
IfoTT |

(Or)

PRIl

3. What is meant by corruption ? Describe its causes

measures and effects.
geraR 31 @ 9 § 736G RO, SUEl ud gErEl
H7 auiF PIoIg |
Section-C
G-y

(Long Answer Type Questions)
(sl we)
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Note- This section contains four questions from which gne

question is to be answered as long question. Each

question carries 15 marks.

R R A

Ao e s 3 TR A v 0§ R 9 g g
X A & | IS T 15 3D I B
6.  What do you understand by Secularism ? Throw
light on the position "of secularism in Indian
-Constitution.
eF-RUT ¥ o T wER § 7 ARem wRum S
Ti-FRYE 9 Rt W v sifd |
(Or)
AYq]
7. What dd you understand by quasi federalism?
% WEAIE ¥ 9 1 W & 9
(Or)
| SV
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What do you understand by voting behaviour ?
HAQH EER N 19 FA YR § 7

(Or)

Describe the causes of Political defections in India.
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1. © Do not open the bobkiet unless you are

asked.to do so.

2. The Abooklet contains 100 questions.
Examinee is required to answer 75
questions in the OMR Answer-Sheet
provided and not in the question booklet.

All questions carry equal marks.

3. Examine the Booklet and the OMR

Answer-Sheet very carefully before you
- proceed. Faulty question booklet due to
missing or duplicate pages/questions or
having any other discrepancy should be

got immediately replaced.

4, Four alternative answers are mentioned
for each questionas-A, B, C&Dinthe
booklet. The candidate has to choose
the correct / answer and mark the same
in the OMR Answer-Sheet as per the
direction : :
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Who said, "state is an association of
association” 7

(A) . - Laski

(B)  Hobbes

()  Locke

(D)  Aristotle

Which contractualist th‘ink'er created both
state and society by contract?

(A)  Hobbes

(B)  Locke

(C) . Rousseau
(0)  None of these -

Who said that 'religion is the opium of the i

people'?' |
(A) Machiavell
(B) " -Gramsci
© Lenin

0 Maxx

i Materialistic interpretation of History was
analyzed by :
(A) Hegel
(B) Green |
(C)  Kant
0)  Marx
Who among the following is not a plﬁra[ist
thinker? '

(A  Figgis
(B)  Laski
(C)  Lindsay
D) Bodin
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6. Whatis tﬁe meaning of dictatorship of
proletanat?
| (A) Dictatorship of working class
(B) . Dictatorship of nch class
(©)  Dictatorship of elite
@)  Dictatorship of army |
7. Which of the following conceptis associated
with Marxism?
(A)  Social contract theory
" (B) Materialistivinterpretation of History
(9] Feminism _
0)  Peaceful co-existence
- 8. Which of the following is the fundamental
idea of Plato?
(A}  Theory of Education
(8)  Philosopher King
© Tﬁeory of Justice
O  Alofthese
8. The most prominent characteristic of Plata's
stateis :
(A)  There is specialization of function
(B)  Thereisnospecialization of function
(C)  Thereis decentralization of function
@)  There is no decentralization of
function
10, Who among the following philosopher
Proposed a theory of slavery?
(A Socrates
(B) - Aristotle
© Pt
O)  Machiavelj
A060401T-B/4585
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1. Who among the following is not a Greek
political thinker?
(A Socrates
(B)  Plato
(C)  Aristotle
(0)  Machiavelli

12.. According to Plato, the basic character of -
soldiers is :
(A)  Wisdom
(B)  Courage
(C) Appétite
D) None of these

13.  The doctrine of proportional equglity was
propounded by :
(A) Socrates
(B) Aristotle
(€  Plato
D) Kant

14, 'Felicific calculus' was the contribution of :

(A)  Aristotle
(B) Plato
(C) Bentham
(D)  None of these

15, Who gave the theory of revolution ?
(A) Plato
(B)  Aristotle
(C)  Bentham
)  Mill
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6 Dislctc melhod vas sty used O
()  Plato
(B) Aristotle
(©)  Hegel
©  Max

7. According to John Rawls, justice is the st
virtue of :
(A)  Society
(8)  Good society
{C)  Legal society
©)  Moral society

18.  Bentham was supporter of :
() NaturalRights
(B)  Historical Rights
(C)  Ethical Rights
@)  Legal Rights

19.  Idea of popular sovereiénty belongs to :
(A)  Hobbes
(B)  Locke
€  Rousseau
O)  Green

20.  Who said, "State is individual writ large" 7
(A)  Socrates
(B)  Cicero
(C)  Aristotle
0)  Plato

- AD60401T-B/4585
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91." The concept of forced freedom was given by:
(A)  Hobbes
(B)  Locke
(C)  Rousseau
@)  Green
922, {Nhich of the following is Plato's book?
" (o) Republic
~(B)  Statesman
(C) Laws
O)  Allof these
23.. Who said, "where there is no law there is
‘no freedom" ?
() Karl Marx
B) - Locke
(C)  Herbert Spencer
(O)  Adam Smith
24, 'Summa Theologica' is a famous book of :
(A)  Plato
(B)  Aristotle
(C)  Machiavelli
(0) St Thomas Aquinas
25.  Who favoured the idea of plurality of
votes? :
(A) Green
- (B) Marx
© Ml
(0)  Bentham
A060401T-B/4585
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26, First modem politcal thinker who used ("
term ‘State'?
(A)  Plato
B)  Maxx
(©)  Machiavell
©)  Austin
97.  Sovereignty is the main feature of :
W st
(B)  Association
(©)  Govemment
D) Family
28.  Whosaid that "politics is a continuous going
process"?
(A)  Crick
(B)  Oakeshott
(C)  Rosa Luxemburg
0)  Rawls ,
2. Which of the following is known as Bible of
Liberalism?
(A)  Two Treatise on Government
(B)  Social Contract i
(€  Leviathan
D) . Prince
30.  According to Marx, state. s
(A)  Social institution
(B)  Permanentinstitution
©  Temporary insﬁtution
(D) Political institution
A060401T-B/4585
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31.  Which of the following is correct about
Michael Oakeshott?
(A)  Heis aBritish philosopher
(B)  Support the democratic and
popular government
(€) Believe in natural liberty \
D)  Allof these
32.  Freedom is always the freedom of
dissenteys is related with :
(A) ~ Wollstonecraft
(B)  Rosa Luxemburg
(C)  Oakeshott
(D)  Rawls
33.  Who used the Inductive method ?
(A)  Socrates
(B).  Plato.
. (C) . Aristotle
(D)  None of these
34, Who among the following thinker is not a
social contractualist theorist?
(A)  Hobbes
(B)  Locke
(C)  Rousseau
(D) Mill
. 35.  According to Karl Marx, societies have all
along been divided between :
(A)  Rich and poor
()  Educated and elite
(C)  Religious and educated
()  Richand religious
A060401T-B/4585
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36, Which of the following pair Is not matched?
(A) J.S. Mill - Representative
Government
(B)  Hobbes - Leviathan
(C) Machiavelli - The Emile .
(D)  Locke-Two Treatise on Government -
37.  Whofirstly gave the conceptof constitutional
government?
{A) Plato
(B) Aristotle
(C)  Bodin
©)  Machiavelli
38, Adistotle studied the constitutions of how
many countries?
(A) 200
® 18
€ 150
o 188 |
39. ©  Who said, that Piato’s book ‘Republic’ is
the best book on education ?
(A Green
B  Mil
(C)  Rousseau
(D)  Barker
40. ~ Who among the following favoured
qualification as the basis for right to vote?
(A)  Bentham '
(8)  Mil
(C)  Green
()  Barker
A060401T-B/4585
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41.  Who said that "the state is begins and ends ~ 41.
with state"?
(A)  Plato
(B) - Barker
(€  Machiavelli
() =~ Gamer
42.  Who said that "J.S. Mill was the prophet of ~ 42.
empty liberty"?
(A)  Hamsha
(B)  Seeley
(@) Garner
(0)  Barker
43, Who said that "justice is the interest of ~ 43.
stronger"?
(A)  Glucon
(B)  Thrasymachus
(®) Polymarchus :
(D)  None of these
44, Who said that "politics is based on religion™? 44,
(A) Cicero
~(B)  Augustine
(C)  Machiavelli
D) Locke
45.  According to which philosopher population 45.
of state must be 10,0007
(A)  Rousseau -
(B)  Aristotle
(C)  Machiavell
(O)  None of these
A060401T-B/4585 (11)
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46, Who said that “human cons¢iousness
postulates liberty, liberty involves rights and
rights demand state"?

(A)  Bentham
® Ml
(€)  Green

- {0)  Manx

47.  Who said that "human beings are the
govemors of two masters, pleasure & pain"?
(A)  Hegel
B)  Manx
(C)  Bentham
©)  Green: |

48.  Falsification theory is related with :

(A} Karl Popper

(B)  Rosa Luxemburg
€  John Rawls

)  Oakeshott

43, Who said that 'Plato was a first fascist?
(A)  Popper
B)  Arstotle
(C)  Laski
(0)  None of these

50.  Hannzh Arendt cdmpare which country's
revolution in her book ‘On Revolution'?
(A)  America and France
(8)  America and Englang
(C)  France and Englang
(0)  None of these
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51. - According to Plato, the population of ideal

state must be :

(A) 2040
(8) 10,000
€ 5040
D) 8020

52. Who gave the theory of two cities?
(A) St Augustine

(8) Rawls
(C)  Burke
| (D)  Aquinas
53.  Who said that 'state is the march of God on
earth'?
(A) . Plato
(B)  Aristotle
©  Hegel
(D)  Green
54, Who gave the theory of surplus value?
(A) Mao
(B) Lenin
(C) Marx

(0)  None of these
55. - Who is known as father

(A) Machiavell

(B) Plato

(c)  Roussead

(D)  None of these

A060401T-B/4585
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56, Whois known as father of Political Science?
()  Plato
(B)  Aistotle
(C) ~ Socrates
0  Machiavell
57.  Who is the author of the book ‘Prince’ ?
(A)  Aristotle
B) Benthém
(C)  Plato
©)  Machiavelli
58.  Who gave the concept of philosopher king?
() Plato
(B)  Aristotle
©  Machiavelli
- (O)  Bentham
58.  'Maximum happi'ness of maximum people'
is related with ;
(A)  Green
B)  Hegel
(C)  Bentham
o Ml
60.  Which of the following is not a book of Platg?
(A)  Republic
(B)  Statesman
© laws
(0)  Leviathan
A060401T-B/4585
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61.

62.

63.

64.

65.

A060401T-B/4585

Who among the following criticized

Bentham's Philosophy as 'Pig Philosophy'? 61.
(A) Leslie Stephen
(B) Karl Marx
(C) Carlyle
O - M’
Positive theory of liberty was advocated ~ 62.
by : :
(A) J.S. Mill
@) Aristotle
(®) T.H. Green
O Pao
According to Austin, sovereignty lies in : 63.
(A)  Parliament
(B)  People
(@) King
(D) . Particular person or group
Who firstly used the term politics? 64.
()  Plao |
(B)-  Aristotle
(C)  Socrates
D Green .
According to Locke, which of the following
is not a natural right ? '
(A)  Rightto life '
(B) - Rightto liberty
(C)  Rightto property
()  Right of equally
(15)
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66.  Rousseau's political philosophy furnished 6.
basis for :
(A) Political Sovereignty
(B)  Limited Sovereignty
(C)  Popular Sovereignty
O  Absolute '
67.  Who attempted to justify English revolution ~ 67:
of 16887
(A)  Hegel
(B)  Locke
(C)  Rousseau
(0)  Bentham )
68.  Who is known as father of Liberalism? 68.
(A Locke
B)  Green
€  Mill
(D)  None of these |
69. Hegel describe which type of stage? 69.
(A)  Thesis
(B)  Antithesis
(C)  Synthesis
D) Al of these
70.  The doctrine of overlapping consensus is 70,
advocated by :
(A) ~ Berin
(B) Nozick
(C)  Bamy
(D) Rawls
A060401T-B/4585 (16)
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4

71.  Who gave the slogan ‘Back to Nature'? 7.
(A) Hobbes
(B)  Locke
(C)  Rousseau
(0)  None of these
72. * Which philosopher is known as child of his ~ 72.
age?
(A) Plato
(8)  Hobbes
(C)  Bentham
D) Machiavelli
73.  Who is the author of the book 'Politics’ ? 73.
(A) Plato
(B)  Aristotle
© Machiavelli
D) Bentham _
74.  Which theory is related with_Marx? 74,
(A Class struggle theory
(B)  Theory of Philosopher king
(C)  Theory of Individualism
(D)  None of these
75 Who gave the theory of general will? 75.
(o) Hobbes
(8)  Locke
(C)  Rousseau
()  Green
A060401T-B/4585 (17)
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Who wrote ‘Over himself, over his own body 7.
and mind the individual is sovereign'?
(A)  Rawls.
(B) Bentham
€ M
() None of these
77. According to Aquinas, which one of the 77,
following is the mind of God ? :
(A)  Etemallaw (A) M BT
B)  Naturallaw (B) SR HILA
(C)  Divine law © ¥ @
©  Humanlaw 0 AW B
78.  According to Cicero, which one of the 78, Rl & IR, LR A IS W
following is the best form of gdvernment? T - -
(A)  Monarchy g e o
®B) Aristocracy B) oA
(©)  Democracy € e
©)  Mix of Monarchy, Aristocracy and O A, RiresE q aﬂqﬁs[ C7l
Democracy e :
79, *The structure of society should be federal  7g, T T W T A R
for perfectness.” This statementis of : U B R T e S
(A)  Lindsay (8) ﬁl“@?f T
(B)  Austin ®) SR
(C)  Bodin © &
O)  Laski \ O R
80.  According to Machiavelli, human nature 80.
was :
(A)  Bad
(B)  Good
(€) Neither good nor bad
(D)  None of these
~ A060401T-B/4585 (18)
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al: Who wrote the ‘Communigt Manifesto with

Marx'?

(A)  Lenin

B  Stalin

(C} - Engels

= ) - None of ihésé
g2 The concept of dictatorship of proletariatis g2

related with :

" (A)  Karl Marx
(B)  Max Weber
(C)  Lenin

(D) ~ None of these

83.  According to Aristotle, what is the nature of ~ 83.

man ?
(A)  Social
(B)  Political
(€)  Religious .
(0)  Cultural
84. " According to Socrates, soul IS
(A) Larf;e
(B)  Virtuous
()  Corruptible
0)  Immortal

85.  The idea that "Virtue is knowledge® is

attributed to :

(A)  Aristotle

()  Plato

(C)  Montesquiet

()  Socrates

A060401T-B/4585
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86.  Who is the author of the book ‘A Theory of
Justice' 7
(A)  Rawis
(E) Aquinas
(C)  Burke
D) Oakeshott
87.  Whois the author of the book ‘On Liberty' ?
(A) ' Rousseau
(B) Locke
{C)  Bentham
S () R .1
88.  Who said that ‘will not force is the basis of
state'?
(A) Bentham
B  Mill
© Hegel
O)  Green
89.  Whois the author of the book ‘Grammar of
Politics'?
(A)  Locke
B)  Laski
(C)  Lasswell
(O)  None of these
90.  According to the philosophy of Plato, the
fundamental character of philosopher king is :
(A)  Courage
()  Wisdom
(C)  Appetite
(D) . None of these
A060401T-B/4585
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91.  Plato’s system of communism is meantonly ~ 91.
for:
(A)  Soldiers and workers
(B)  Philosopher king and soldiers
(C)  Philosophers, soldiers & workers
(O)  Philosophers and workers
92.  The renaissance first began in : 92.
(A)  France
(B)  Spain
(C) ltaly
(D)  None of these
93, Whoisthe authorof 'Lecture of Jurisprudence'? 93.
(A)  Austin
(B)  Bodin
(C)  Laski
(D).  None of these
94,  Who was the founder of Westem Philosophy? 94,
(A)  Socrates
(B)  Aristotle
(C)  Plato
(0)  None of these
65, The doctrine of proportional equality was 9.
propounded by :
(A)  Socrates
(B)  Aristotle
(C) Plato
(0)  Kant
(21)
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John Rawls's theory of Justice combines :

96, 96.
(A) People’'s democracy, market
economy and redistributive welfare
scheme
() Liberal democracy, command
: economy and distributive justice

(©)  Liberal or associational socialistic

democracy, market economy and
‘ redistributive welfare scheme

D) None of these ‘

97.  Which of the following is correct so far as  97.

John Rawis' writings are concerned?

(A) A Theory of Justice

(B) Political Liberalism

()  Law of People

©) Al of these : :

98.  What constitutes the mean in Aristotle’s = 98.
social structure?

(A)  Wealthy class

(B)  Poor citizen

(C)  Middle class

©).  Artisan class

99.  Whom did Machiavelli blame for the moral ~ 99.
degradation of ltaly?

(A)  The Prince

(B)  TheChurch

(C)  Aristocracy

O)  Corrupt people

100.  For Hegel, which one of the following is ~ 100.
correct? ,'

(A) ~ Family is thesis, Bourgeoisie
society is antithesis and state
represent synthesis

(B)  Rational is real and real is rational

(C)  Contradictions are not obstacles
preventing us reaching truth

(D)  Allof these
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